Sironc

=) TFTAIRID /RS

DI CHUN IRON WORK CO., LTD.

408 At EERR K7 (BERMEHREE)
NO. 7, Jingke 1st Rd., Nantun Dist.,

Taichung City 408, Taiwan
Tel:+886-4-2358-5879 Fax:+886-4-2358-3695
www.auto-strong.com

20230731

L@

A STRONGHOLD BY PRECISION AND POWER



INSPIRING INNOVATION
FOR A LIMITLESS FUTURE.

=




CONTENTS

SIK zsssm)
MM 3% HiES)F5E

4-jaw strong scroll chuck
plain back, 2-piece jaws.

P19

N-200A ===k
=MohzeimEE5EEE

3-jaw through-hole power
chuck.(adapter included)

SC msasm)
=MiES)F5E

3-jaw scroll chuck plain
back, solid jaws.

P17

E_.,,_‘._‘.'

KD
WA= TUEFERKER

3-jaw strong scroll chuck D1 camlock
direct mounting, 2-piece jaws.

P21

N-200 ==
=Mz HEREE

3-jaw through-hole power
chuck.(adapter excluded)

SIC (s
MY miES)FeEE

4-jaw scroll chuck plain
back, solid jaws.

SE
NITUEE) SR

6-jaw scroll chuck
plain back.

P22

_{il4 WAL

H eoe o0

AN J."‘_-,

N\, A
9 a®

-

L

NT-200 crzzsziR)
_J'I'\':F""‘EEU_B’L,\

2-jaw through-hole power
chuck.(adapter excluded)

SK s
=M EE) TR

3-jaw strong scroll chuck
plain back, 2-piece jaws.

NIT-200 cr==

79 T o 22 5P [ER Be B

4-jaw through-hole power
chuck.(adapter excluded)

NHT-200 =:=:4)

M=M=
s [FL

2 jow and 3 jaw through-hole
power chuck. (adapter included)

VA =z

—_ =k B
=P EHERKTE
3-jow wedge type non
through-hole power chuck.
(adapter included)

V-300RA ===)
SR EHENE

Non Througﬁh hole power chuck
forvertical

the. (adapter included)

NB-200A z==i)

=TEBA L 2= EE 3R ER

3-jaw extra large through-hole
power chuck. (adapter included)

V(40"-79") r=ezn)

AR & HER SR
EmAR

Large wedge type non through-hole
power chuck.(adapter excluded)

= th 2= 30 8 [FE L
High speed through-hole
rotary hydraulic cylinder.

V rzEmin)

— = rhEEdS
=M EHEREE
3-jaw wedge type non
through-hole power chuck.
(adapter excluded)

o
i

DV/DN

STV ST RATUHER
BeGEFS

Vertical and vertical horizontal
stationary power chuck.

CR
[EIe ER

Collet chuck for cylindrical
center mount.

P41

MK

EeEgR gz
PELE Y il

Super high speed through-hole
compact rotary hydraulic cylinder.

VT&VIT r==
TR I T R & i ER 3R R

2-jaw and 4-jaw wedge T\/pe non
through-hole power chuck.
(adapter excluded)

W)

VRA =z5n)
M EAPEMEKTE

Non Throu%h hole power chuck for
vertical lathe. (adapter included)

CRA
EHEREE

Collet chuck for short
taper mount.

MA

R oz B 58 i ER L

Compact high speed through-hole
rotary hydraulic cylinder.



P44

ML-CM.B
A, B 85 i ER L

Extra large through-hole
rotary hydraulic cylinder.

P48

MM

SRRz
kL g i

High speed and compact
through-hole rotary hydraulic cylinder.

P46

CM.B
HEEESKE

Hydraulic cylinder coolant
collector.

P50

P47

MS =uirm)

th & 1B & H B L
Non through-hole rotary hydraulic
cylinder.(valve included)

P51

MS-C (zsuitm - proze)

ch &0 m B EL
Non through-hole rotary hydraulic

cylinder.(valve and switch brackets
included)

P52

i

MRR EmeszEs)

th & 855 B i 85 h B 5T
Short type non through-hole

rofary hydraulic cylinder.
(for rotary union)

P55

H]
it B SR ERHE T

Hard jaw for hydraulic
power chuck.

MS250C/MS300C

= shiEseT (BP0 -
hEEESHERLL Bhoze)
Non through-hole rotary hydraulic

cylinder.(valve and switch brackets
included)

re— .'.’i
‘ ¢ N
i .'
;Q&- R
ot \ YO

o

MH-F
o & B8 ER L

Non through-hole rotary
hydraulic cylinder.

P56

SKC
BMAREM

Soft jaw for strong scroll
chuck.

MR
P E e EYEE R TL

Short type non through hole

rotary hydraulic cylinder.

HC
HEESREEE T

Soft jaw for hydraulic
power chuck.

MRA

P EE AT R B h L
Short type non through-hole rotary

hydraulic cylinder with central
bore for air.

HB4
HAEM

Boring mill jaw,

HC40-1
ABPEHEREEMN

Soft jaw for hydraulic
power chuck.

P59

P60

H]40-1
AR EHEREEREM

Hard jaw for hydraulic
power chuck.

P62

F52
SmEmE 5EEA

High speed and light weight type

strong finger chuck for aluminum
wheel.

P66

BL
= MERETUKER

3-jaw ball swing lock chuck.

P70

SB-ES
mENE KR

Pneumatic power chuck.

ADAPTER
BER

Mounting adapter on short

taper spindle noses DIN55026.

F61
SmimE 258

High speed and light weight

fype strong finger chuck
for aluminum wheel.

DR
= MR TV RER

3-jaw draw down power
chuck.

P71

PB-ES
RENENIKEE

Pneumatic power chuck.

P61

sl =

T-UNTS
TR

Suitable for power chuck.

P64 P65

F66 NL-A ==en)
tRimRE FE5E =IMRITREDZEMEEE

High speed and light weight type 3-jaw long stroke through-hole

s1;§>ng? finger chuck for aluminum power chuck.(adapter included)
wheel.

P68 P69

P165 HN (z=2n)
ZE)EstHEEE =MiBE sz h R

Floating plate center chuck 3-jaw extra high speed through-hole
power chuck.(adapter included)




BUSINESS
CORE

QUALITY FIRST | BOUNDLESS INNOVATIONS
LOOK ABROAD | BASED IN TAIWAN

RxemE @ EMfEIK

TAUTO STRONG, BEMM @ BYSH=K45E: - 588 « A ~ 5% - T
ERRKBENER BEENIEELSRERS  BTREELFERTXK °
B NERBEERERIIREEZT R LAVRRTE o
BMLENEE  BeEEREAGN  AORSER  LEZHE "AE
g, o BIIEEFEHRERE  SHREKRENER o

NVMIVL NI JAVIA

© PR FRIREERR AR SLOKAR AR - BREEZTIRE -
- SRS BT AR BIRAR - BAEELBHMELF

KM o RIZAFFEIRMRERPT - ARThBA 34 MR 03e i -

- BAXNBEHKXELEE  AThEA BRI -
- PR EREEER > WINAZEIEE -

- EREEETERAEMIEBIREE

- ECEBUNHENRIR M T ETHRMHTLEN 2 ACNCE KM BT
- B3 T AR REAR AT T [RI A BECNCER IR AT B JBE = JTUSIE 8 ~ B

BRBEIALT

© BEMCSHAR T RAERRFER ] -
© ZTURBARBEERARENZHIE
. BEEUNILFBECEMARKEZREBIE o
« ARRIEXNERAE/NELFRGERAR @ A2 HER T

BIHEALME -

* #BiBISO-900 2B (RHIRERFE «

* E@IS0-9001 R/ E RIMAFIEFIEE ©
- A SIERPRHR o
- BELPTH I ESRIFTIASEEE o

- BAZEBRMEASTREEHARERE
- B4 BERMBEHMZA

- BE2016EFTHEFEE o

- EEXRREEEH

- BIE20188EIBRIIZEE -

- BETMBAOERH A RIRIF LR o
- REZEEZENBRBEAS BRLEEIERMITZEFMRES -
« MM1552B2 R 52 8 A 7o B 88 h B F1 44 4& 2022
- BIBISO-14001IRIEEIE RHFT0EE ©

« B3EMA1 45358 B R 22 E BEh ER T ©

- Hf3$CR65A6E S 3aEg o

- BIkEEEWEESIE

PA =
=R

- BACNCERRIGEIHIROMH - £EZ@EEME -

X -

]



/7

OUR MILESTONES

RECHEZEES—EEHNHND

BIRS BaIRMEsHE - BT8R
KAES—FSEHEFETNER @ FKREAHARMBIEE -

RELAITT » IR 0 B FEREKATEY -

B | Bt

MM1552B— 2 B 5 Fll & G

B SRS TS

Bl Fh Bk 1B 55 88

SEBEE Pz EE R BT
High speed and compact through-hole
rotary hydraulic cylinder




HEAD TO

THE GLOBAL MARKET

AUTO STRONG

FIFTY YEARS OF
RESOUNDING INTERNATIONAL

ERATEREREE  BPIRB T EENWERNER
FOE - 1992FBIZ T EBRECH&EM —AUTO
STRONG ° HfIHSEEFE 2 ANBERE BAEZHE
BT EEBIRN - 2 LR ER 3B K BIFT AN SGE o
PmEmE B ®H2HE - TRIRE E2SRE
BEAH  BIBEEREE "TEXREH - BRKE
RIRESE ©

AUTO STRONGil ™MEZ{E 2RISR » ©&E 7 HM
UGS - FIFEMRBINGES  BAERPIEREMEL
IR » FRFtL AR FEIEE KAEE -

EriERE)l - BiEETIE - 2151588 °

ﬁﬁ « 7-.Kn|ﬁgl VE

B NRBERKEEE - LEAEHEIZXREE
{ERUBKE - 52 E TRZMEE,  THEROKIBERE, 0 2
&S0 14001£a IREIERA BIREAREREHME
T NEFEEE =5 28551S014064-1; B2 REERE - KK

;Hﬁﬁﬁﬁ’ﬁﬁﬁhkﬁﬁ¢ﬁﬁﬁ”ﬂ BREN
Wéﬁéﬁ LUEIRIB AR :




Sirong

B =
R 1%

SC-3
SC-4
SC-5
SC-6
SC-7
SC-8
SC-9
SC-10
SC-12
SC-16

AUTO
A STRONGHOLD BY PRECISION AND POWER.

SC
=MUEH5EE (A1 HA)

3-jaw scroll chuck plain back, solid jaws
(front and back mounted)

1.1E~ R - STBURMER °

2. BEERARAETENEERR - REBEERM Y -

3. #5E0.03mm (0.0012") T.I.R.

4 FEMERKEMEE  BRARNSRER BESRK—®
ME3MEZM A -

et
J Back Mounting

e . B o\ aiEL
SC-3~8C-12=31° *_Front Mounting
SC-16=30
B : mm
86 46 60 73 16 4.1  3-M6/3-M6x50 36 11 143 7 3.0 900 2500 1.7 — @2-070 / @24-064

112 60 80 95 24 48 3-M8/3-M8x70 42 14 166 8 4.5 1200 2500 3.7 = @3-095 / 929-084
132 60 100 115 32 4.8 3-M8/3-M8x70 50 16 203 8 6.5 1500 2500 5.2  0.01 @3-0110/ ©@33-@100
167 67 130 147 45 55 3-M10/3-M10x70 63 19 23.7 10 9.0 2200 2000 9.3 0.08 4-0160 / ©48-@150
192 765 155 172 58 5.5 3-M10/3-M10x80 77 215 29.4 11 11.0 2500 2000 14.2 0.06 04-0180 / ©56-@170
200 76.5 160 176 58 55 3-M10/3-M10x80 77 215 29.4 11 11.0 2500 2000 16  0.07 @4-0190 / ©62-0180
232 84 190 210 70 3-M12/3-M12x90 87 24 356 12 15.0 3000 2000 22.7 0.15 05-0220 / ©62-0210
273 87 230 250 89 3-M12/3-M12x90 98 28 39.5 12 19.5 4000 1800 31.8 0.25 ©6-0260 / @70-2250
310 96 260 285 105 3-M12/3-M12x110 110 30 456 14  21.0 4200 1800 44.8 0.58 @10-0300/@86-0290
405 122 345 375 160 8.7 —/6-M14x130 146 42 56.3 15 25.0 4500 1500 102 1.75 ©30-0380/@110-0360

~

& =
R 1%

SIC-7
SIC-9
SIC-12
SIC-16

SIC
mTUEEI5EEE (Bt EEA)

4-jaw scroll chuck plain back, solid jaws
(front and back mounted)

MEREENART ks - JiAIEEEREDD -
CEETHNRE  BEMS -

- RYTERERETEESCRIAEE -

AREMERKEMNEE  EBRARSEEE HRASR—K
MEfG A

A W N -~

ERTEE
AL
J Back Mounting

pa

SIC-7~8IC-12=30° X
SIC-16=15" h

I 150 .
~15y _L—.B | N AL

SIC-7~S1C-12=30" N s T
SIC-16=45" . Front Mounting

B{i7 : mm

192 765 155 172 58 55 3-M10/3-M10x80 77 215 294 11 11.0 2500 2000 14.8 0.06 04-0180 / @56-@170
232 84 190 210 70 6 3-M12/3-M12x90 87 24 35.6 12 15.0 3000 2000 232 0.16 @5-0220 / @62-2210
310 96 260 285 105 7 3-M12/3-M12x110 110 30 456 14 21.0 4200 1800 47 0.58 ©@10-@300/@86-0290
405 122 345 375 160 8.7 —/6-M14x130 146 42 56.3 15 25.0 4500 1500 107 1.72 @30-0380/@110-0360



Sirong

o 5t
18

SK-4
SK-6
SK-7
SK-8
SK-9
SK-10
SK-12
SK-16

AUTO
A STRONGHOLD BY PRECISION AND POWER.

SK
=3 NEBFEE (AR

3-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

1. NREERBERE - BTUESEEHIIE - EMES
RENHINBENT - MERXEERALGE -

2. BMa{EIEMAERMEA -

3. #5E0.03mm (0.0012") T.I.R.

A FEMERREMNFE  EARSEREE ; HASRKR—K

MBEIEZm AN -
ERn=E
oL
J ck Mounting
™ I
] =] I i
u..}]: il T
- ] ©
R
il 5o
L= 1!
K
- - 1 w ol el «
(ST IR SIS
_______ I
F
% ]
T}
- B i L

SK-6~SK-12=31°
SK-16=30"

"_Front Mounting

BE{T7 : mm

112 58 80 95 32 4.8 3-M8/3-M8x65 47 19 316 8 45 1200 2500 3.8 — @3-095 / @34-@90
167 67 130 147 45 55 3-M10/3-M10x70 72 26 40.2 10 9.0 2200 2000 9 0.03 @4-0160 / ©55-@150
192 765 155 172 58 55 3-M10/3-M10x80 81.2 28 42 11 11.0 2500 2000 13.8 0.06 28-0180 / ©62-@170
200 76.5 160 176 58 5.5 3-M10/3-M10x80 82 28 42 11 11.0 2500 2000 15.5 0.07 @8-@190 / ©68-0180
232 84 190 210 70 3-M12/3-M12x90 90.9 32 512 12 15.0 3000 2000 22 0.16  ©11-@220/Q@70-0210
273 87 230 250 89 3-M12/3-M12x90 100.5 35 56.7 12 19.5 4000 1800 29.7 0.26 @12-260/@80-0250
310 96 260 285 105 7 3-M12/3-M12x110 1145 40 56.8 14  21.0 4200 1800 43.5 0.58 @15-0300/@90-0290
405 122 345 375 160 8.7 —/6-M14x130 1486 50 76.1 15  25.0 4500 1500 98 1.72  (30-0380/ @110-@360

& =
R 1%

SIK-7
SIK-9
SIK-12
SIK-16

< SIK
' M4 E5EEE (B3R

4-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

TREMIENARENBREEETHNMT -

2EMEFRFEZMT - ITRBRLGETH -

3. R~1EHIERETEASKEUAHE -

AREMERKEMRE BRARSEEE; BRER—K
MEMG A -

L
Back Mounting

SIK-7~8IK-12=30° =15 B o\ L )
SIK-16=15 ', _Front Mounting

B{i7 : mm

192 765 155 172 58 55 3-M10/3-M10x80 82 28 42 11 11.0 2500 2000 14.1  0.06 8-0180 / ©62-@170
232 84 190 210 70 6 3-M12/3-M12x90 96 32 51.2 12 15.0 3000 2000 222 0.16 ©@11-@220/Q@70-0210
310 96 260 285 105 7 3-M12/3-M12x110 1145 40 56.8 14  21.0 4200 1800 45 0.58  ©15-@300 / @90-@290
405 122 345 375 160 8.7 —/6-M14x130 148.6 50 76.1 15  25.0 4500 1500 108 1.72  @30-@380/@110-0360



B3
R B

KD4-8"

KD5-8"

KD6-8"
KD6-10"
KD6-12"
KD8-10"
KD8-12"

ERTnEE
i
-t
<
g s
T
1
(3]
i
s
1
81 : mm
D1-4 200 77.2 53 82 28 422 11 63513/ 13 /15.8/ 82.55 115 2500 2000 18.5 0.07 @8-0180 / @62-0170
D1-5 200 77.2 55 82 28 422 11 82563/ 16 / 19 /104.78 115 2500 2000 18 0.07 ©@8-0180/@62-@170
D1-6 200 77.2 58 82 28 422 11 106.375/ 17 /22.2/133.35 11.5 2500 2000 17 0.07 @8-0180 / @62-0170
D1-6 250 86 76 909 32 50.8 12 106.375/ 17 /22.2/133.35 19.5 4000 1800 29.5 0.2 ©11-0220/ ©@70-@210
D1-6 306 107.5 103 1145 40 57.8 14 106.375/13.5/22.2/133.35 21.0 4200 1800 47 0.5 @15-@300 / @90-0290
D1-8 250 86 80 909 32 50.8 12 139.719/ 19 /25.4/171.45 19.5 4000 1800 27 0.2 @11-0220 / @70-3210
D1-8 306 107.5 103 1145 40 57.8 14 139.719/ 18 /25.4/171.45 21.0 4200 1800 47 0.5 @15-@300 / @90-2290

Siron

AUTO

G

A STRONGHOLD BY PRECISION AND POWER.

KD
1B = [T B B 56 2R

3-jaw strong scroll chuck D1
camlock direct mounting, 2-piece jaws

1. RIFFEE0.03mm (0.0012") T.I.R. °

2 ZERY | —XREFERNARMRILIRT « —HEERIERH o

3. ABMEBERXKEMEFE - BRARSRLE  BEASK—BKBME
3fFEZM AN -

B R
B 1%

SE-4
SE-6
SE-7

112 66
165 67
192 765

80
130
155

NTUE )P ER

6-jaw scroll chuck plain back

1. 8588 ~ IREET] ~ TAPE - ETRER LFRFFME - ERALLEINEE
RiBH -

2. RKILEERE - EFOTHERERRE -

3. BEEMANIEE - EEREERE -

4. FEMEBRKEMERE  BRARSEEE  BRASR—RMESG
R At

nana
1
]
/” ha"\
[ \/ - o
} e v
ST . L) -
o 4 = _ |’—‘___ 1w o <
! ISIRSTR SIS
- S }
e A S
l s ALF
Fal
\\ ! /// (D
~H- 4T
s ————aa 1
A~ :

95

32 4.8 3-M8x65 45

147 51

5.5 3-M8x70 66.5

172 80 5.5 3-M10x75 77

14 397
19 407
215 615

8 30 6.5
10 233 6.2
11 24 53

1.6
2.8
3.6

440
660
850

1200
1200
1000

4
9
14

0.03
0.06

BE{i7 : mm

02-@32
3-051
23-280



5
K]

N-205A4
N-205A5
N-206A4
N-206A5
N-206A6
N-208A5
N-208A6
N-208A8
N-210A6
N-210A8
N-210A11
N-212A6
N-212A8
N-212A11
N-215A8
N-215A11
N-215A15
N-218A8
N-218A11
N-218A15
N-220A11
N-220A15
N-224A11
N-224A15
N-224A20
N-232A11
N-232A15
N-232A20

B3l
[ERLd

(mm)

@33
@33
@45
@45
@45
@52
@52
@52
Q75
Q75
Q75
@91
@91
@91
01175
@117.5
©117.5
@117.5
@117.5
@117.5
180
2180
@205
@205
@205
@230
@230
2230

4372
5.4
5.4
5.5
5.5
5.5
7.4
7.4
7.4
8.8
8.8
8.8
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
12
12
12
18
18
18

RABEH
#1173
(kgf)
1784
1784
2243
2243
2243
3558
3558
3558
4385
4385
4385
5812
5812
5812
7240
7240
7240
7240
7240
7240
9177
9177
9177
9177
9177
10197
10197
10197

3-jaw through-hole power chuck
(adapter included)

1. REFASHREERHVME > FAIeBsEKSKREEL RFE
B MReEEEERM A -
2. R : FFADIN 55026 X EHiZE#E -

RAEH 85 1BI1E%E

=A PR A N
min oM @2 G4 1 smm  #n o oen
3671 28.5 7000 7.8 0.020 M1036 HJO5 HCO05
3671 28.5 7000 9 0.023 M1036 HJO5 HCO05
5812 28.5 6000 15.5 0.065 M1246 HJO6 HCO06
5812 28.5 6000 14.7 0.062 M1246 HJO6 HCO06
5812 28.5 6000 17.3 0.073 M1246 HJO6 HCO06
9075 26.5 5000 25.8 0.190 M1552 HJO8 HCO08
9075 26.5 5000 25 0.184 M1552 HJO8 HCO08
9075 26.5 5000 29.3 0.217 M1552 HJO8 HCO08
11319 27.5 4200 41 0.370 M1875 HJ10 HC10
11319 27.5 4200 38 0.340 M1875 HJ10 HC10
11319 27.5 4200 48.4 0.436 M1875 HJ10 HC10
14990 27.5 3300 62.5 0.809 M2091 HJ12 HC12
14990 27.5 3300 59.5 0.770 M2091 HJ12 HC12
14990 27.5 3300 69.9 0.912 M2091 HJ12 HC12
18355 23.5 2500 125 2.255 M2511S HJ15 HC15
18355 23.5 2500 118 2.241 M2511S HJ15 HC15
18355 23.5 2500 138 2.822 M2511S HJ15 HC15
18355 23.5 2000 146 3.961 M2511S HJ15 HC15
18355 23.5 2000 138 3.744 M2511S HJ15 HC15
18355 23.5 2000 191 5.183 M2511S HJ15 HC15
23861 30.6 1800 215 7.355 ML2816 HJ24-1 HC24-1
23861 30.6 1800 202 6.910 ML2816 HJ24-1 HC24-1
23861 26.5 1400 332 18.199 ML3320 HJ24-1 HC24-1
23861 26.5 1400 317 17.376 ML3320 HJ24-1 HC24-1
23861 26.5 1400 286 15.677 ML3320 HJ24-1 HC24-1
24472 29.5 1200 530 43 ML3320 HJ24-1 HC24-1
24472 29.5 1200 515 43 ML3320 HJ24-1 HC24-1
24472 29.5 1200 485 42 ML3320 HJ24-1 HC24-1

ESfil : mm
I HF
B

(mm)
6-0135
6-0135

15-0169
215-0169
215-0169
©20-@210
@20-0210
@20-@210
©25-0254
25-@254
025-0254
©30-@304
©30-@304
?30-0304
©50-0381
©50-@381
@50-0381
@50-@450
©50-@450
@50-@450
©120-0510
©120-9510
@150-0610
©150-2610
©150-2610
©210-@800
©210-@800
©210-@800

R <
N-205A4
N-205A5
N-206A4
N-206A5
N-206A6
N-208A5
N-208A6
N-208A8
N-210A6
N-210A8

N-210A11
N-212A6
N-212A8

N-212A11
N-215A8

N-215A11

N-215A15
N-218A8

N-218A11

N-218A15

N-220A11

N-220A15

N-224A11

N-224A15

N-224A20

N-232A11

N-232A15

N-232A20

C
AB(HS)DE F

135 71
135 88
169 96

110 14 15 63.513
110 14 32 82.563
140 20 20 63.513
169 91 140 20 15 82.563
169 111 140 20 35 106.375
210 109 170 25 23 82.563
210 103 170 25 17 106.375
210 126 170 25 40 139.719
254 120 220 30 25 106.375
254 113 220 30 18 139.719
254 145 220 30 50 196.869
304 129 220 30 25 106.375
304 122 220 30 18 139.719
304 154 220 30 50 196.869
381 160 300 43 33 139.719
381 149 300 43 22 196.869
381 184 300 43 57 285.775
450 160 300 43 33 139.719
450 149 300 43 22 196.869
450 184 300 43 57 285.775
510 169 380 60 41 196.869
510 155 380 60 27 285.775
610 186 520 60 45 196.869
610 183 520 60 42 285.775
610 166 520 60 25 412.775
800 189 520 60 45 196.869
800 186 520 60 42 285.775
800 169 520 60 25 412.775

G

96
82.55

104.78 8255 16

116

104.78 133.35 16
133.35 104.78 14

150

133.35 171.45 24
171.45 133.35 18

190

17145 235 28
171.45 133.35 18

190

17145 235 28

235
260
235
235
260
235
330.2
330.2
463.6
463.6
463.6
463.6
463.6
463.6

Fig-1

i

H J K

82.55 15.5 3-M10
104.78 14 3-M10
6-M10
6-M10
6-M10
6-M12
6-M12
6-M12
6-M16
6-M16
6-M16
6-M16
6-M16
6-M16

104.78 16

133.35 18

171.45 24

171.45 25

17145 24
235 28
3302 29
17145 24
235 28
3302 29
235 30
3302 33 6-M24
235 28 6-M24
330.2 32.5 6-M24
463.6 35 6-M24
235 28 6-M24
330.2 32.5 6-M24
463.6 35 6-M24

6-M24

6-M20 117.5
6-M20 117.5
6-M20 117.5
6-M20 117.5
6-M20 117.5
6-M20 117.5

180
180
205
205
205
230
230
230

<

o O O O O o O o o o o o o oo o g o g g g o~ »

6

N

max.
26.5
26.5
32
32
32
38.7
38.7
38.7
51.4
514
51.4
61.3
61.3
61.3

82
1125
112.5
131.9
131.9
131.9

(0]

max.
19.75
19.75
22.75
22,75
2275
29.75
29.75
29.75
33.75
33.75
33.75
45.75
45.75
45.75
45.25
45.25
45.25
79.75
79.75
79.75
60.5
60.5
87.5
87.5
87.5

6 162 153.5

6
6

162
162

153.5
153.5

(0}

min.
7.75
7.75
9.25
9.25
9.25

N-205~N-218 Serration Pitch 1.5
#aN-220~N-224 Serration Pitch 3.0

120°x3pcs - N-205

15

N-206~N-218
307 © N-220~N-224

P PQR s 7T

max.

16
33
31
26
46

min.
6
23
19
14
34

11.75 375 215

11.75 31.5

155

11.75 54.5 38.5

14.25 33.5
14.25 26.5

145
7.5

14.25 58.5 39.5

iI5%5
15.75
15.75
15.25
15.25
15.25
1525
15.25
15.25
245
245
24.5
245
245
245
245
245

33
26
58
40
29
64
40
29
64
52
38
61
58
41
61
58
41

10
3
35
17
6
41
17
6
41
29
15
35
32
15
27
24
7

2
2
2
2
2
2
2
2
2
2
2
2
2
2
5
5
5
5
5
5
5
5
5
5
5
5
5
5

10 20
10 20
12 19
12 19
12 19

u

max.

vV WXY

25 M40x1.5 3-M6 44.531 62
M40x1.5 6-M10 44.5 31 62

25
31
31
31

14 20.5 35
14 20.5 35
14 20.5 35

16 25
16 25
16 25
21 28
21 28
21 28
22 43
22 43
22 43
22 43
22 43
22 43
25 38
25 38
25 38
25 38
25 38
25 38
25 38
25 38

40
40
40
50
50
50
62
62
62
62
62
62
64
64
64
64
64
64
64
64

M55x2
M55x2
M55x2
M60x2
M60x2
M60x2
M85x2
M85x2
M85x2
M100x2
M100x2
M100x2
M130x2
M130x2
M130x2
M130x2
M130x2
M130x2
M190x3
M190x3
M215x3
M215x3
M215x3
M250x3
M250x3
M250x3

6-M10 60 37 73
3-M6 60 37 73
6-M12 60 37 73
6-M10 66 38 95
3-M6 66 38 95
6-M16 66 38 95
6-M12 94 43 110
3-M8 94 43 110
6-M20 94 43 110
6-M12 108 51 130
3-M8 108 51 130
6-M20 108 51 130
6-M16 139 66 165
3-M10 139 66 165
6-M24 139 66 165
6-M16 139 66 165
3-M10 139 66 165
6-M24 139 66 165
6-M20 206 73 180
3-M12 206 73 180
6-M20 230 73 180
6-M24 230 73 180
3-M10 230 73 180
6-M20 262 73 180
6-M24 262 73 180
3-M10 262 73 180

BB : mm
26
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-2
Fig-2
Fig-1
Fig-2
Fig-2
Fig-1



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

N-200 P NT-200
= MepZhERTE (REEET) L SMehZAERE (REEER)

3-jaw through-hole power chuck 2-jaw through-hole power chuck
(adapter excluded) (adapter excluded)

- REBFASREEMME - A BIESEREEERHE - REBFASRESEMME - A RBESREECRAERE
EE - MRS EERERMA - B MERSEEEENR T -

HFEIN-204~N-218 Serration Pitch 1.5
H #N-220~N-224 Serration Pitch 3.0

Hi#% Serration Pitch 1.5
.- T

‘ NT-205
I i
P>
|
1 1
L
Q ~ . 120°x3pcs : N-204,N-205
15" 0 N-206~N-218
307 1 N-220~N-224
BEfi] : mm
R B 1 / L
N-204 026 10 5.4 1428 2906 31.6 8000 4 0.007  MO0928A  HJO5 HC04 04-0110 K/ M
N-205 33 10 5.4 1784 3671 28.5 7000 7 0.018  M1036 HJ05 HC05 06-0135 - B -
N-206 45 12 5.5 2243 5812 28.5 6000 135  0.057  M1246 HJOo6 HCO06 015-0169
N-208 052 16 7.4 3558 9075 26.5 5000 23 0.17 M1552 HJ08 HCo08 ©20-0210
N-210 Q75 19 8.8 4385 11319 27.5 4200 35 0315  M1875 HJ10 HC10 025-0254
N-212 291 23 10.6 5812 14990 27.5 3300 56.5 0737  M2091 HJ12 HC12 030-0304 &4 mm
N-215  ©1175 23 10.6 7240 18355 235 2500 111 227  M2511S  HJ15 HC15 250-0381 w5t _
N-218  ©1175 23 10.6 7240 18355 235 2000 131 355  M2511S  HJ15 HC15 050-0450 BB
N-220 2180 23 10.6 9177 23861 30.6 1800 190 6.5 ML2816  HJ24-1  HC24-1  @120-@510 NT-205 @33 10 5.4 1189 2447 19.5 7000 6.8 0.017  M1036  HJO5 HCO5  @6-0135
N-224 @205 26 12 9177 23861 26.5 1400 270 148  ML3320 HJ24-1 HC24-1  ©150-0610 NT-206 @45 12 5.5 1495 3875 18.9 6000 12.8  0.054 M1246 HJO6 HCO6  ©15-0169
N-232 @230 34 18 10197 24472 29.5 1200 470 41 ML3320 HJ24-1 HC24-1  ©210-@800 NT-208 052 16 7.4 2366 5975 18.4 5000 22 0.163  M1552  HJO8  HCO08  ©20-0210
NT-210 975 19 8.8 2927 7546 18.4 4200 34 0.306  M1875 HJ10 HC10  ©25-0254
%Ejt NT-212 291 23 10.6 3875 9993 18.4 3300 55 0717  M2091  HJ12  HC12  @30-0304
N-204 110 59 85 14 706 16 3-M10x60 26 4 23 1125 525 35 -65 2 10 175 23 M32x1.5 38 24 495 NT-215 o117 23 106 4823 12236 193 2500 106 217 M2ST1S - HJS - HOTS - 080-0381
N-205 135 60 110 14 8255 15 3-M10x60 33 4 265 1975 7.75 1 9 2 10 20 25 M40x1.5 445 31 62 NT-218 01175 23 106 4823 12236 123 2000 122 331 MSTTS  HJTS  HC15  050-0450
N-206 169 81 140 20 10478 16 6-M10x80 45 5 32 2275 925 11 -1 2 12 19 31 M55x2 60 37 73 7 ot
N-208 210 91 170 25 13335 20 6-M12x90 52 5 387 2975 11.75 145 -15 2 14 205 35 M60x2 66 38 95 R =t
N-210 254 100 220 30 171.45 22 6-M16x100 75 5 51.4 3375 1425 85 -105 2 16 25 40 M85x2 94 43 110 NT-205 135 60 110 14 8255 15 4-M10x60 33 4 265 1975 7.75 1 9 2 10 20 25 M40x1.5 445 31 62
N-212 304 110 220 30 171.45 23 6-M16x110 91 6 613 4575 1575 8 -15 2 21 28 50 M100x2 108 51 130 NT-206 169 81 140 20 10478 16 6-M10x80 45 5 32 2275 925 11 -1 2 12 19 31 M55x2 60 37 73
N-215 381 133 300 43 235 30 6-M20x135 1175 6 82 4525 1525 7 -16 5 22 43 62 M130x2 139 66 165 NT-208 210 91 170 25 133.35 20 6-M12x90 52 5 387 29.75 1175 145 -15 2 14 205 35 M60x2 66 38 95
N-218 450 133 300 43 235 30 6-M20x135 1175 6 82 79.75 1525 7 -16 5 22 43 62 M130x2 139 66 165 NT-210 254 100 220 30 171.45 22 6-M16x100 75 5 514 3375 1425 85 -105 2 16 25 40 M85x2 94 43 110
N-220 510 134 380 60 3302 35 6-M24x135 180 6 1125 605 245 11 -12 5 25 38 64 MI90x3 206 73 180 NT-212 304 110 220 30 17145 23 6-M16x110 91 6 61.3 4575 1575 8 -15 2 21 28 50 M100x2 108 51 130
N-224 610 147 520 60 4636 35 6-M24x150 205 6 1319 875 245 16 -10 5 25 38 64 M215x3 230 73 180 NT-215 381 133 300 43 235 30 6-M20x135 1175 6 82 4525 1525 7 -16 5 22 43 62 M130x2 139 66 165
N-232 800 150 520 60 463.6 35 6-M24x150 230 6 162 1535 245 16 -18 5 25 38 64 M250x3 262 73 180 NT-218 450 133 300 43 235 30 6-M20x135 1175 6 82 7975 15625 7 -16 5 22 43 62 M130x2 139 66 165



Siro

NIT-206
NIT-208
NIT-210
NIT-212
NIT-215
NIT-218
NIT-224

& 3
R
NIT-206
NIT-208
NIT-210
NIT-212
NIT-215
NIT-218
NIT-224

a a a N D NN
N
=

169
210
254
304
381
450
610

AUTO

nG

?A

110
133
133
147

A STRONGHOLD BY PRECISION AND POWER.

NIT-200

MMz HERE (FZEZR)

4-jaw through-hole power chuck
(adapter excluded)

- REFASHESERAME - FIABRIHEREEL LR E
R MESE8RRENTEAME

Hk¢4 Serration Pitch 1.5

140
170
220
220
300
300
520

55
7.4
8.8
10.6
10.6
10.6
12

104.78
133.35
171.45
171.45
235
235
463.6

2243
3558
4385
5812
7240
7240
9177

16 4-M10x80 45
20 4-M12x90 52
22 4-M16x100 75
23 4-M16x110 91
30 4-M20x135 117.5
30 4-M20x135 117.5
35 8-M24x150 205

5812

9075

11319
14990
18355
18355
23861

28.5
26.5
27.5
27.5
23.5
23.5
26.5

o o o o o o g

4500
3600
3200
2700
1900
1500
1000

32 2275
38.7 29.75
51.4 33.75
61.3 45.75

82 4525

82 79.75
131.9 875

-~ (NIT-224 Pitch 3.0)

9.25
11.75
14.25
15.75
15.25
15.25

24.5

0.058
0.177
0.324
0.763
2.331
3.798
15.2

11
14.5
8.5
8
7
7
16

M1246
M1552
M1875
M2091
M2511S
M2511S
ML3320

HJ06
HJ08
HJ10
HJ12
HJ15
HJ15
HJ24-1

HCo06
HCO08
HC10
HC12
HC15
HC15
HC24-1

M55x2

M60x2

M85x2
M100x2
M130x2
M130x2
M215x3

BT : mm

015-0169
©20-0210
025-0254
030-0304
050-2381
@50-0450
0150-0610

NHT-200
=M= M3t AR (SEER)

2-jaw and 3-jaw through-hole power chuck
(adapter included)

1. Al ER BT RA 2 THFeRs  TRRKEE -

2. REEHASHREEMME - EBIESREECNAEEE -
RS m@EE R A -

3. 7% : FADIN 55026 X F{E%E -

i1} 44 Serration Pitch 1.5
S

Bl : mm
NHT-208A5 @52 16 7.4 2192 /1590 5608 / 3997 17.3/13.3 3500 26.2 M1552 HJO6 HC08-1 ©20-0210
NHT-208A6 @52 16 7.4 2192 /1590 5608 / 3997 17.3/13.3 3500 25 M1552 HJO6 HC08-1 ©20-0210

B 5

R~
NHT-208A5 210 113 170 20 23 82.563 133.35104.78 14 6xM12 52 5 41.8 34 7.5 37.5 215 2 12 20.5 35 MBOx2 6xM10 66 38 73 Fig-2
NHT-208A6 210 107 170 20 17 106.375 150 133.35 17 6xM12 52 5 41.8 34 7.5 31.5 155 2 12 20.5 35 M60x2 3xM6 66 38 73 Fig-1



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

NB-200A
=MEBAPEHERE (S EE)

3-jaw extra large through-hole power chuck
(adapter included)

BABBEIE  MERED  BERACEFIE -

2. RI#\1EIRE20% - Lb—#5k5E  AEE#20% 2B E - RIFHR
BEEILERT -

3. REEASHRESNME  MEBIEAREECAMERE
WSO EEE A A -

4, B4 FFEDIN 55026 FHHiZEHE -

—_

EB{iI : mm
B
NB-306A5 @52 12 54 2243 5812 18.4 6000 14 0.06 M1552 HJ06 HCO06 @20-0170
NB-306A6 @52 12 5.4 2243 5812 18.4 6000 15.6 0.087 M1552 HJ06 HCO06 @20-0170
NB-208A6 @66 16 7.4 3558 9075 22.0 5000 24 0.14 M1768 HJO8 HCo08 26-0210
NB-210A8 @78 1) 8.8 4385 11319 27.5 4200 37.4 0.4 M1878 HJ10 HC10 036-0256
NB-310A8 @81 19 8.8 4976 12848 31.5 4500 36.4 0.33 MK1881 HJ10 HC10 @37-0254
NB-212A8 @122 23 10.6 5812 14990 20.5 3200 72.2 1.04 M2511S HJ12 HC12 059-0315
NB-212A11 @122 23 10.6 5812 14990 20.5 3200 65 0.95 M2511S HJ12 HC12 059-0315
NB-215A15 @142 23 10.6 7240 18355 25.5 2500 130 3.0 ML2816 HJ15 HC15 60-0405
NB-218A15 ©166.5 23 10.6 7240 18355 25.5 2000 161 4.77 ML2816 HJ15 HC15 O78-0457

Serration Pitch 1.5
.

15° : NB-306~NB-212
30° : NB-215~NB-218

(O] =
Pbieeh
B -_I. o
o O
— >
o]
=
B3
R <
NB-306A5 170 91 140 20 15 82.563 116 104.78 14.5 6-M10 52 5 37 18.25 9.25 26 14
NB-306A6 170 111 140 20 35 106.375 104.78 133.35 16 6-M10 52 5} 37 18.25 9.25 46 34
NB-208A6 210 1038 170 25 17 106.375 150 133.35 19.5 6-M12 66 5 45.7 23.75 11.75 315 15.5
NB-210A8 256 113 220 30 18 139.719 190 171.45 24 6-M16 78 5! 53 33.75 14.25 26.5 7.5
NB-310A8 254 113 220 30 18 139.719 190 171.45 24 6-M16 81 5 54 32.25 14.25 26.5 7.5
NB-212A8 315 145 300 30 88 139.719 235 171.45 24 6-M20 122 6 79.5 88N5 11.25 53 30
NB-212A11 315 134 300 30 22 196.869 260 235 28 6-M20 122 6 79.5 33.75 11.25 42 19
NB-215A15 405 154 380 43 27 285.775 330.2 330.2 88 6-M24 142 6 93.5 45.25 15.25 34 11
NB-218A15 457 154 380 43 27 285.775 330.2 330.2 33 6-M24 166.5 6 102 63.25 18.25 34 1"
B 3
R ~t
NB-306A5 2 12 20 31 M60x2 3-M6 65 37 73 16 36 65 M8x15 63 Fig-1
NB-306A6 2 12 20 31  MeOx2  eMi2 65 37 73 16 36 65 M8x15 63 Fig-3
NB-208A6 2 14 20 35 *M75x2 3-M6 80 38 95 16 45 80 M8x15 78 Fig-1
NB-210A8 2 16 25 40 M87x2 3-M8 94 43 110 16 60 102 M10x20 91 Fig-1
NB-310A8 2 16 25 40 M90x2 3-M8 97 43 110 16 60 102 M10x20 91 Fig-1
NB-212A8 2 21 28 50 M135x2 6-M16 143 51 130 20 60 138 M10x10 123 Fig-2
NB-212A11 2 21 28 50 M135x2 3-M10 143 51 130 20 60 138 M10x10 123 Fig-1
NB-215A15 5 22 43 62 M155x2 3-M12 164 66 165 20 80 160 M12x22 145 Fig-1
NB-218A15 5 22 43 62 M180x3 3-M12 189 66 165 20 100 160 M12x22 145 Fig-1

*{EHETTM7 4x2



Siron

]

AUTO

G

A STRONGHOLD BY PRECISION AND POWER.

(P)

Vv
=M BB (RS EER)

- 3-jaw wedge type non through-hole

- power chuck (adapter excluded)
. EtEE  ENRFIE B B AE
L 2. REERER S ¢ A HI SN HIE TR 44 A S e BB B 8 o

HEfSerration Pitch 1.5

V-205

<
=

=

o]
“

V-205(1)

«/

0" =V-205
15°=V-206~V-218

BE{T : mm

B
BB

V-205 15
V-206 20
V-208 21
V-210 25
V-212 30
V-215 35
V-218 35
2R

R~

V-205 135
V-206 165
V-208 210
V-210 254
V-212 304
V-215 381
V-218 450

114
114

6.4
9.2
9.7
8.8
10.5

16

140
170
220
220
300
300

836
1835
2549
2957
4181
8362
8362

100
104.78
133.35
171.45
171.45

235

235

2570

5353

7648

11013
15907
25391
25391

3-M8x60
6-M10x70
6-M12x85
6-M16x85
6-M16x105
6-M20x115
6-M20x115

22.4
26.5
255
28.6
27.5
32.6
32.6

o o o o o o N

5500
5200
4500
4000
3300
3000
2700

6.3

12.7
23.8
36.4
62.3
106
122

16.75 6.25
156.25 7.75
2225 875
30.75 9.75
48.75 9.75
49.75 21.25
49.75 21.25

0.015
0.048
0.137
0.3
0.78
1.94
3.09

104.6
132
158
163
104

MH80
MS105C
MS125C
MS125C
MS150C
MS200C
MS200C

3
4
111 5
5]
5

18

HJ05
HJ06
HJo8
HJ10
HJ12-1
HJ15-1
HJ15-1

69 2 255 55
57 2 255 55

HCO5
HCO6
HCo8
HC10
HC12-1
HC15-1
HC15-1

M12x1.75
M16x2.0
M20x2.5
M20x2.5
M20x2.5
M30x3.5
M30x3.5

6-0135
018-0165
026-0210
026-0254
026-0304
068-0381
298-0450

54 130
63 165
63 165

VT&VIT
= MR MM P BB SEER (R & AR

2-jaw and 4-jow wedge type non
through-hole power chuck (adapter excluded)

1EERKERG - BARZMKRERERFZIATLMRIEG - MRAG
2 ~ EREO& -

2. AJEVER VARSI E# -

3. BRRTRBEIVEIFES -

4. SERERVEISEE -

Hig Serration Pitch 1.5

]
o
. !
o >
i
=
| 1
1
BE{i7 : mm
ichEe
R 18
VT-206 2 20 9.2 1224 3569 17.3 5200 12.3 0.045 MS105C HJ06 HC06 018-0165
VT-208 2 21 9.7 1683 5098 16.3 4500 23.1 0.13 MS125C HJ08 HC08 @26-33210
VT-210 2 25 8.8 1988 7342 19.4 4000 35.1 0.29 MS125C HJ10 HC10 026-0254
VT-212 2 30 10.5 2804 10605 18.4 3300 60.3 0.7 MS150C HJ12-1 HC12-1 @26-0304
VIT-212 4 30 10.5 4181 15907 27.5 2800 64.3 0.77 MS150C HJ12-1 HC12-1 @26-0304
VT-215 2 35 16 5557 16927 21.7 3000 102.6 1.89 MS200C HJ15-1 HC15-1 268-0381
VIT-218 4 35 16 8362 25391 32.6 2300 127 3.21 MS200C HJ15-1 HC15-1 ©98-0450
B
R ~F

VT-206 165 74 140 20 104.78 14 4-M10x70 21 5 387 1525 775 1046 846 4 12 36 31 Mi6x20 34 39 73
VT-208 210 85 170 25 13335 20 6-M12x85 25 5 46.75 2225 875 132 111 5 14 36 35 M20x25 38 41 95
VT-210 254 89 220 30 17145 18 6-M16x85 34 5 511 3075 975 158 133 5 16 36 40 M20x25 45 46 110
VT-212 304 106 220 30 171.45 23 6-M16x105 34 6 61 4875 975 163 133 5 18 36 50 M20x25 50 54 130
VIT-212 304 106 220 30 171.45 23 4-M16x105 34 6 61 48.75 975 163 133 5 18 36 50 M20x25 50 54 130
VT-215 381 114 300 43 235 29 6-M20x115 — 6 775 4975 2125 104 69 2 255 55 62 M30x3.5 60 63 165
6

VIT-218 450 114 300 43 235 29 4-M20x115 — 108 49.756 2125 92 57 2 255 55 62 M30x3.5 60 63 165



XSS SISTSISTS
S S o O S S S
THCISTISESTIC SIS IS OS>
S ©
e
s_.__‘ AUTO
IronG A STRONGHOLD BY PRECISION AND POWER.

f— = th [EF g A 585 13z

=MPEHENRE (FEER)
. 3-jaw wedge type non through-hole
. power chuck (adapter included)

- MBS TSR FIASASIDINIA S B M 38 E B . . HiiSeration Piich 1.5

15'=V-206~V-218
30°=V-221~V-232

i mm (7 : mm
2R G
N EE Y S W REYTT onoR B W
V-206A4 20 9.2 1835 5353 26.5 5200 14.5 0.062 MS105C HJO6 HCO06 @18-0165 V-206A4 165 89 140 20 20 63.513 104.78 8255 16 6-M10 21 5 38.7 1525 7.75 84.6 646 4 12 36 31 M16x2.0 6-M10 34 39 73 Fig2
V-206A5 20 9.2 1835 5353 26.5 5200 13.9 0.056 MS105C HJO06 HCO06 18-0165 V-206A5 165 84 140 20 15 82563 116 104.78 14 6-M10 21 5 38.7 1525 7.75 89.6 69.6 4 12 36 31 M16x2.0 3-M6 34 39 73 Figl
V-206A6 20 9.2 1835 5353 26.5 5200 15.8 0.059 MS105C HJO6 HCO06 @18-0165 V-206A6 165 104 140 20 35 106.375 104.78 133.35 16 6-M10 21 5 38.7 1525 7.75 69.6 496 4 12 36 31 M16x2.0 6-M12 34 39 73 Fig3
V-208A5 21 9.7 2549 7648 25.5 4500 26.8 0.154 MS125C HJO8 HCO08 @26-0210 V-208A5 210 103 170 25 23 82.563 133.35 104.78 14 6-M12 25 5 46.75 2225 875 109 88 5 14 36 35 M20x2.5 6-M10 38 41 95 Fig2
V-208A6 21 9.7 2549 7648 25.5 4500 25.6 0.147 MS125C HJO8 HCO08 @26-03210 V-208A6 210 97 170 25 17 106.375 150 133.35 18 6-M12 25 5 46.75 2225 875 115 94 5 14 36 35 M20x2.5 3-M6 38 41 95 Figl
V-208A8 21 9.7 2549 7648 25.5 4500 30 0.172 MS125C HJO8 HCO08 @26-0210 V-208A8 210 120 170 25 40 139.719 133.35 171.45 24 6-M12 25 5 46.75 2225 875 92 71 5 14 36 35 M20x2.5 6-M16 38 41 95 Fig3
V-210A6 25 8.8 2957 11013 28.6 4000 41.8 0.35 MS125C HJ10 HC10 D26-0254 V-210A6 254 109 220 30 25 106.375 171.45 133.35 18 6-M16 34 5 51.1 30.75 9.75 133 108 5 16 36 40 M20x2.5 6-M12 45 46 110 Fig2
V-210A8 25 8.8 2957 11013 28.6 4000 39.6 0.33 MS125C HJ10 HC10 026-0254 V-210A8 254 102 220 30 18 139.719 190 171.45 25 6-M16 34 5 51.1 30.75 9.75 140 115 5 16 36 40 M20x2.5 3-M8 45 46 110 Figl
V-210A11 25 8.8 2957 11013 28.6 4000 50 0.417 MS125C HJ10 HC10 @26-0254 V-210A11 254 134 220 30 50 196.869 171.45 235 28 6-M16 34 5 51.1 30.75 9.75 108 83 5 16 36 40 M20x2.5 6-M20 45 46 110 Fig3
V-212A6 30 10.5 4181 15907 27.5 3300 67.6 0.76 MS150C HJ12-1 HC12-1 026-0304 V-212A6 304 125 220 30 25 106.375 171.45 133.35 18 6-M16 34 6 61 48.75 9.75 138 108 5 18 36 50 M20x2.5 6-M12 50 54 130 Fig2
V-212A8 30 10.5 4181 15907 27.5 3300 65.5 0.75 MS150C HJ12-1 HC12-1 026-0304 V-212A8 304 118 220 30 18 139.719 190 171.45 25 6-M16 34 6 61 4875 9.75 145 115 5 18 36 50 M20x2.5 3-M8 50 54 130 Figl
V-212A11 30 10.5 4181 15907 27.5 3300 75.9 0.888 MS150C HJ12-1 HC12-1 @26-0304 V-212A11 304 150 220 30 50 196.869 171.45 235 28 6-M16 34 6 61 4875 975 113 83 5 18 36 50 M20x2.5 6-M20 50 54 130 Fig3
V-215A8 35 16 8362 25391 32.6 3000 119 2.12 MS200C HJ15-1 HC15-1 J68-0381 V-215A8 381 141 300 43 33 139.719 235 171.45 24 6-M20 — 6 775 49.75 2125 71 36 2 255 55 62 M30x3.5 6-M16 60 63 165 Fig2
V-215A11 35 16 8362 25391 32.6 3000 113 2.05 MS200C HJ15-1 HC15-1 68-0381 V-215A11 381 130 300 43 22 196.869 260 235 32 6-M20 — 6 775 49.75 2125 82 47 2 255 55 62 M30x3.5 3-M10 60 63 165 Figl
V-215A15 35 16 8362 25391 32.6 3000 132 2.56 MS200C HJ15-1 HC15-1 68-0381 V-215A15 381 165 300 43 57 285.775 235 3302 29 6-M20 — 6 77.5 49.75 2125 47 12 2 255 55 62 M30x3.5 6-M24 60 63 165 Fig3
V-218A8 35 16 8362 25391 32.6 2700 136 3.28 MS200C HJ15-1 HC15-1 @98-0450 V-218A8 450 141 300 43 33 139.719 235 171.45 24 6-M20 — 6 108 49.75 2125 59 24 2 255 55 62 M30x3.5 6-M16 60 63 165 Fig2
V-218A11 35 16 8362 25391 32.6 2700 129 3.20 MS200C HJ15-1 HC15-1 @98-0450 V-218A11 450 130 300 43 22 196.869 260 235 32 6-M20 — 6 108 49.75 2125 70 35 2 25,5 55 62 M30x3.5 3-M10 60 63 165 Figl
V-218A15 35 16 8362 25391 32.6 2700 148 3.71 MS200C HJ15-1 HC15-1 @98-3450 V-218A15 450 165 300 43 57 285.775 235 3302 29 6-M20 — 6 108 49.75 21.25 35 0 2 255 55 62 M30x3.5 6-M24 60 63 165 Fig3



Siro

40" V-240
VIT-240
VE-240

50" V-250
VIT-250
VE-250

63" V-263
VIT-263
VE-263

79" VE-279

& 3t
R <
40" V-240
VIT-240
VE-240
50" V-250
VIT-250
VE-250
63" V-263
VIT-263
VE-263

79" VE-279

1005

1250

1600

2000

AUTO

nG

180

180

220

238

A STRONGHOLD BY PRECISION AND POWER.

V(40"-79")
AR EHEREERRS (FSEER)

Large wedge type non through-hole

@A

23 + (30)

23 + (30)

24 + (40)

24 + (40)

520

520

720

720

502

623

796

996

power chuck (adapter excluded)

1 ERAREAREIH  AEHIMEZRE -
2. REAIEFEABERE - MKPERE - @GRIELER -
3. AEEHERBEMNTRIE  dRBARFRAUITH -

180

180

200

200

463.6

463.6

647.6

647.6

108

108

144

159

320

320

360

360

46.9

46.9

M52x1.5

M52x1.5

M52x1.5

M52x1.5

630
550
450
500
400
360
400
300
280
230

645
700
700
890
940
971
1800
1700
1800
2850

457

563

738

914

518
548
1350

JlL1903

125

145

Soft jaw HC40-1

MS250C

MS250C

MS250C

MS250C

Hard jaw HJ40-1

HJ40-1  HC40-1
HJ40-1  HC40-1
HJ40-1  HC40-1
HJ40-1  HC40-1

4

4

6

6

7-M24

10-M24

13-M24

17-M24

19

BT : mm

2285-01005

@270-01250

@390-01600

@440-22000

110

110

A7 TV EE 7 BATUH B R ER R 5
Vertical and vertical horizontal stationary

power chuck

1 EARIZR -~ SEIEETE -
2. VAR PEHEBEREEFERAE - IMRIHXRE - EH
SIEANIN T ITAE -

131.5

_ DAS (6") A5 (8") A
DV Fig-1
EEfil : mm
DV-6 a115 104 /78.5 1900/ 1400 20 20 12 V-206
DV-8 155 187 /148.6 3600 / 2800 21 20 21 V-208, V-210, V-212
DN-8 @155 148.6 / 148.6 2800 / 2800 17 20 28.5 N-208

B
R~
DV-6 @220 168 140 55 @200 49 16 655 55 104.78 12-M10x15L 38 45 18 -2 PT1/4" 7.6 2-@15 M16xP2.0 Fig-1

DV-8 290 210 170 70 242 58 24 86 55 133.35 12-M12x16L 23 65 20 -1 PT1/4" 55 2-16 M16xP2.0 Fig-1
DN-8 293 213 170 70 242 52 24 100 55 133.35 12-M12x18L 325 745 304 134 PT1/4" 16 4-17 M60xP2.0 Fig-2



AUTO

SironGg . :o.cioo

B
R 1B

V-212RA6
V-212RA8
V-212RA11
V-215RA8
V-215RA11
V-215RA15
V-218RA8
V-218RA11
V-218RA15
V-221RA8
V-221RA11
V-221RA15
V-224RA8
V-224RA11
V-224RA15
V-232RA11(41)
V-232RA15
V-232RA20
VIT-212RA8
VIT-218RA11
VIT-224RA11
VIT-224RA15
VIT-232RA11
VIT-232RA15

BY PRECISION AND POWER.

VRA
STEE P EHERE (&)

Non through-hole power chuck for
vertical lathe (adapter included)
1. REEEEREEMEHELE -

2. AKX ERRER -

87 : mm

A A B A D A OO WO WL WL WWLW W W W W W

30
30
30
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
30
35
35
35
35
35

16
16
16
18.7
18.7
18.7
18.7
18.7
18.7
16
16
16
16
16
16
18.7
18.7
18.7

18.7
16
16

18.7

18.7

5302
5302
5302
9585
9585
9585
9585
9585
9585
9075
9075
9075
9075
9075
9075
9585
9585
9585
5302
9585
9075
9075
9585
9585

14276
14276
14276
25798
25798
25798
25798
25798
25798
28450
28450
28450
28450
28450
28450
25798
25798
25798
14276
25798
28450
28450
25798
25798

35.7 3000 67.7 0.774 MS150C HJ12-1 HC12-1
35.7 3000 65.6 0.764 MS150C HJ12-1 HC12-1
35.7 3000 741 0.902 MS150C HJ12-1 HC12-1
35.7 2800 120.4 2.146 MS200C HJ15-1 HC15-1
35.7 2800 113.4 2.016 MS200C HJ15-1 HC15-1
35.7 2800 133 2.572 MS200C HJ15-1 HC15-1
35.7 2300 144.5 3.507 MS200C HJ15-1 HC15-1
35.7 2300 137.5 3.43 MS200C HJ15-1 HC15-1
35.7 2300 157.5 3.945 MS200C HJ15-1 HC15-1
33.7 1940 198 6.46 MS200C HJ24-1 HC24-1
33.7 1940 190 6.35 MS200C HJ24-1 HC24-1
33.7 1940 184 6.28 MS200C HJ24-1 HC24-1
33.7 1760 240 10.54 MS200C HJ24-1 HC24-1
33.7 1760 233 10.44 MS200C HJ24-1 HC24-1
33.7 1760 227 10.36 MS200C HJ24-1 HC24-1
35.7 1060 399 31.6 MS200C HJ24-1 HC32-1
35.7 1060 383 30.82 MS200C HJ24-1 HC32-1
35.7 1060 419 32.69 MS200C HJ24-1 HC32-1
35.7 2500 68 0.792 MS150C HJ12-1 HC12-1
35.7 2000 141.5 3.522 MS200C HJ15-1 HC15-1
33.7 1520 255 11.3 MS200C HJ24-1 HC24-1
33.7 1520 240 11.02 MS200C HJ24-1 HC24-1
35.7 920 414 32.68 MS200C HJ24-1 HC32-1
35.7 920 399 32.4 MS200C HJ24-1 HC32-1

032-0304
@32-0304
032-0304
268-0381
068-0381
268-0381
078-0450
78-0450
078-0450
265-0530
©65-3530
265-0530
0152-0610
©152-0610
0152-0610
@100-0810
@100-0810
@100-0810
045-0304
Q78-0450
0152-0610
0152-0610
@100-0810
@100-0810

B
R

V-212RA6
V-212RA8
V-212RA11
V-215RA8
V-215RA11
V-215RA15
V-218RA8
V-218RA11
V-218RA15
V-221RA8
V-221RA11
V-221RA15
V-224RA8
V-224RA11
V-224RA15

V-232RA15
V-232RA20
VIT-212RA8
VIT-218RA11
VIT-224RA11
VIT-224RA15
VIT-232RA11
VIT-232RA15

V-212R~V-218R Serration Pitch 1.5
V-221R~V-232R Serration Pitch 3.0

15°=V-212R~V-218R T
30°=V-221R~V-232R |37 |2

VIT-212R

VIT-221R~
VIT-232R

304 125 220 30 25 106.375 171.45 133.35 18 6-M16 6
304 118 220 30 18 139.719 190 171.45 24 6-M16 6

304 150 220 30 50 196.869 171.45 235 28 6-M16 6
381 141 300 43 33 139.719 235 171.45 24 6-M20 6
381 130 300 43 22 196.869 260 235 32 6-M20 6
381 165 300 43 57 285.775 235 330.2 29 6-M20 6
450 141 300 43 33 139.719 235 171.45 24 6-M20 6
450 130 300 43 22 196.869 260 235 32 6-M20 6
450 165 300 43 57 285.775 235 330.2 29 6-M20 6

64
64
64
78
78
78
92
92
92

45.75 1275138108 5.5 18 36
45.75 12.75 1451155.5 18 36
45.75 1275113 83 5.5 18 36
49.75 2425 71 36 5525555
49.75 2425 82 47 5525555
49.75 2425 47 12 5525555
70.75 2425 59 24 5525555
70.75 2425 70 35 5525555
70752425 35 0 5525555

50 M20x2.5 6-M12 50 54.5 130
50 M20x2.5 3-M8 50 54.5 130
50 M20x2.5 6-M20 50 54.5 130
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165
62 M30x3.5 6-M16 60 66.5 165
62 M30x3.5 3-M10 60 66.5 165
62 M30x3.5 6-M24 60 66.5 165

158
158
158

22
22
22

530 154 380 60 33 139.719 330.2 171.45
530 148 380 60 27 196.869 330.2 235

530 148 380 60 27 285.775 330.2 330.2
610 154 380 60 33 139.719 330.2 171.45
610 148 380 60 27 196.869 330.2 235

610 148 380 60 27 285.775 330.2 330.2
V-232RA11(41) 810 170 380 80 41 196.869 330.2 235

810 156 380 80 27 285.775 330.2 330.2
810 187 520 80 58 412.775 330.2 463.6
304 118 220 30 18 139.719 190 171.45

450 130 300 43 22 196.869

260

235

610 162 380 60 41 196.869 330.2 235
610 148 380 60 27 285.775 330.2 330.2
810 170 380 80 41 196.869 330.2 235
810 156 380 80 27 285.775 330.2 330.2

24 6-M24 6 87 935
30 6-M24 6 87 935
33 6-M24 6 87 935
24 6-M24 6 126.5 93.5
30 6-M24 6 126.5 93.5
33 6-M24 6 126.5 93.5
30 6-M24 6 104.8 196.5
33 6-M24 6 104.8 196.5

35 6-M24 6 104.8 196.5

27.5
27.5
27.5
275
27.5
275
25,5
255
255

24 4-M16 6 64 4575 12.75
32 4-M20 6 92 70.7524.25

30 8-M24 6 126.5 93.5
33 8-M24 6 126.5 93.5
30 8-M24 6 104.8 196.5
33 8-M24 6 104.8 196.5

275
27.5
255
255

64
70
70
64
70
70
47
47
16

29
35
35
29
35
35
12
12
=il¢)

25
25
25
25
25
25
25
25
25

g o0 o0 © © © © © ©

14511555 18
35 5.525.555

70
70
70
47
47

35 9 25
3 9 25
12 5 25
12 5 25

55
55
55
55
55
55
56
55
55
36

56
55
56
55

64 M30x3.5 9-M16 60
64 M30x3.5 6-M20 60
64 M30x3.5 3-M12 60
64 M30x3.5 9-M16 60
64 M30x3.5 6-M20 60
64 M30x3.5 3-M12 60
74 M30x3.5 6-M20 60
74 M30x3.5 3-M12 60
74 M30x3.5 6-M24 60

77
7
7
7
7
7
93
93
93

180 155 22
180 155 22
180 155 22
180 165.1 22
180 165.1 22
180 165.1 22
210 165.1 22
210 165.1 22
210 165.1 22

50 M20x2.5 4-M8 50 545130 — —
62 M30x3.5 4-M10 60 66.5 165 158 22
64 M30x3.5 6-M20 60 77 180 165.122
64 M30x3.5 4-M12 60 77 180 165.122
74 M30x3.5 6-M20 60 93 210 200 22
74 M30x3.5 4-M12 60 93 210 200 22

BE{i7 : mm

Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig2
Fig1
Fig2
Fig2
Fig1
Fig2
Fig1
Fig3
Fig1
Fig1
Fig2
Fig1
Fig2
Fig1



- AUTO
strona@ A STRONGHOLD BY PRECISION AND POWER.

V-300RA
ST P BN (SIEEHR)

Non through-hole power chuck for
vertical lathe (adapter included)

1 BRARIAERER -
2. 5t R B ERE AR Pk EL AT ©

HEEV-312R~V-318R Serration Pitch 1.5 _
#V-321R-V-332R Serration Pitch 3.0 f VIT-312R

o e

15°=V-312R~V-318R — !

| VIT-321R~

30'=V-321R-V-332R | 372 | VIT-332R
AL mm &4t ¢+ mm
2 e
omBEY S W E YT R R B W
V-312RA8 3 30 16 5302 14276 35.7 3000 71 0.773 MS150C HJ12-1 HC12-1 @32-0304 V-312RA8 304 138 220 30 38 139.719 190 171.45 24 6-M16 6 64 4575 12.751451155.5 18 36 50 M20x2.5 3-M8 50 545130 — — Fig1
V-315RA8 3 35 18.7 9585 25798 35.7 2800 131 2.24 MS200C HJ15-1 HC15-1 68-0381 V-315RA8 381 160 300 43 52 139.719 235 171.45 24 6-M20 6 78 49.75 2425 82 47 5525555 62 M30x3.5 6-M16 60 66.5 165 — — Fig2
V-315RA11 3 35 18.7 9585 25798 35.7 2800 128 2.23 MS200C HJ15-1 HC15-1 268-0381 V-315RA11 381 160 300 43 52 196.869 260 235 32 6-M20 6 78 49.7524.25 82 47 5525555 62 M30x3.5 3-M10 60 66.5 165 — — Fig1
V-315RA15 S 35 18.7 9585 25798 35.7 2800 140 2.64 MS200C HJ15-1 HC15-1 @68-0381 V-315RA15 381 165 300 43 57 285.775 235 330.2 29 6-M20 6 78 49.75 2425 77 42 5525555 62 M30x3.5 6-M24 60 66.5 165 — — Fig3
V-318RA8 3 35 18.7 9585 25798 35.7 2300 157 3.68 MS200C HJ15-1 HC15-1 @78-0450 V-318RA8 450 160 300 43 52 138.719 235 171.45 24 6-M20 6 92 70.75 2425 82 47 5525555 62 M30x3.5 6-M16 60 66.5 165 158 22 Fig2
V-318RA11 3 35 18.7 9585 25798 35.7 2300 155 3.66 MS200C HJ15-1 HC15-1 @78-0450 V-318RA11 450 160 300 43 52 196.869 260 235 32 6-M20 6 92 70.7524.25 82 47 5525555 62 M30x3.5 3-M10 60 66.5 165 158 22 Fig1
V-318RA15 3 35 18.7 9585 25798 35.7 2300 167 4.07 MS200C HJ15-1 HC15-1 @78-0450 V-318RA15 450 165 300 43 57 285.775 235 330.2 29 6-M20 6 92 70.75 2425 77 42 5525555 62 M30x3.5 6-M24 60 66.5 165 158 22 Fig3
V-321RA11 3 35 16 9075 28450 33.7 1940 212 6.73 MS200C HJ24-1 HC24-1 @65-0530 V-321RA11 530 173 380 60 52 196.869 330.2 235 30 6-M24 6 87 935 275 82 47 9 25 55 64 M30x3.5 6-M20 60 77 180 155 22 Fig2
V-321RA15 3 35 16 9075 28450 33.7 1940 210 6.75 MS200C HJ24-1 HC24-1 @65-03530 V-321RA15 530 178 380 60 57 285.775 330.2 330.2 33 6-M24 6 87 935 275 77 42 9 25 55 64 M30x3.5 3-M12 60 77 180 155 22 Fig1
V-324RA11 3 85} 16 9075 28450 33.7 1760 257 10.83 MS200C HJ24-1 HC24-1 @152-0610 V-324RA11 610 173 380 60 52 196.869 330.2 235 30 6-M24 6 126.5 93.5 275 82 47 9 25 55 64 M30x3.5 6-M20 60 77 180 165.1 22 Fig2
V-324RA15 3 35 16 9075 28450 33.7 1760 255 10.85 MS200C HJ24-1 HC24-1 @152-0610 V-324RA15 610 178 380 60 57 285.775 330.2 330.2 33 6-M24 6 126.5 935 275 77 42 9 25 55 64 M30x3.5 3-M12 60 77 180 165.1 22 Fig1
V-332RA11 3 35 18.7 9585 25798 35.7 1060 399 30.17 MS200C HJ24-1 HC32-1 @100-0810 V-332RA11 810 181 380 80 52 196.869 330.2 235 30 6-M24 6 104.8196.5 255 82 47 5 25 55 74 M30x3.5 6-M20 60 93 210 165.1 22 Fig2
V-332RA15 3 35 18.7 9585 25798 35.7 1060 397 30.19 MS200C HJ24-1 HC32-1 @100-0810 V-332RA15 810 186 380 80 57 285.775 330.2 330.2 33 6-M24 6 104.8 196.5 255 77 42 5 25 55 74 M30x3.5 3-M12 60 93 210 165.1 22 Fig1
VIT-312RA8 4 30 16 5302 14276 35.7 2500 78 0.78 MS150C HJ12-1 HC12-1 @45-0304 VIT-312RA8 304 138 220 30 38 139.719 190 171.45 24 4-M16 6 64 4575 12.751451155.5 18 36 50 M20x2.5 4-M8 50 54.5 130 — — Fig1
VIT-318RA11 4 35 18.7 9585 25798 35.7 2000 158 3.74 MS200C HJ15-1 HC15-1 @78-0450 VIT-318RA11 450 160 300 43 52 196.869 260 235 32 4-M20 6 92 70.7524.25 82 47 5525555 62 M30x3.5 4-M10 60 66.5 165 158 22 Fig1
VIT-324RA11 4 35 16 9075 28450 33.7 1520 268 11.47 MS200C HJ24-1 HC24-1 @152-0610 VIT-324RA11 610 173 380 60 52 196.869 330.2 235 30 8-M24 6 126.5 93.5 275 82 47 9 25 55 64 M30x3.5 6-M20 60 77 180 165.1 22 Fig2
VIT-324RA15 4 35 16 9075 28450 33.7 1520 267 11.49 MS200C HJ24-1 HC24-1 @152-0610 VIT-324RA15 610 178 380 60 57 285.775 330.2 330.2 33 8-M24 6 126.5 935 275 77 42 9 25 55 64 M30x3.5 4-M12 60 77 180 165.1 22 Fig1
VIT-332RA11 4 35 18.7 9585 25798 35.7 920 427 32.85 MS200C HJ24-1 HC32-1 @100-0810 VIT-332RA11 810 181 380 80 52 196.869 330.2 235 30 8-M24 6 104.8196.5 255 82 47 5 25 55 74 M30x3.5 6-M20 60 93 210 200 22 Fig2
VIT-332RA15 4 35 18.7 9585 25798 35.7 920 425 32.87 MS200C HJ24-1 HC32-1 @100-0810 VIT-332RA15 810 186 380 80 57 285.775 330.2 330.2 33 8-M24 6 104.8196.5 25,5 77 42 5 25 55 74 M30x3.5 4-M12 60 93 210 200 22 Fig1



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

EEY Y ) EEYYE
Collet chuck for cylindrical center mount Collet chuck for short taper mount

1. e EET] IREFEIEAEES - EANC/CNCEE RN T4 - 1. e REETREFEIEAEES - EAKNC/CNCEE RN TAE41 -
2. BMEEEHREEE A IETERMER - 2. B EERE I BRERB LB TTIERMESR -
3. MR TR ERTRERESER - 3. AR TR BRI RIEZEZFBESHIEK -

. B
P D
P }_ 4
Nl Clamping position T,
ERTRE = — ERTRE
P === =l
LLpl -
=] ] : :
T i\ D .

K [ 1 Clamping position T_
p%_/ | e
w %J; == = : ; i

A

@
G

@H
J

af

=
z l
I§ i
DA
TE
TF
G
@H
J
i
]
C
@C

CAT .
b e - Spring Collet - - Multi-Bore Collet -
B{i7 : mm ' (

b5 Bfi1 : mm

CR42-140 140 42 7 25(2549 55(5608 6000 6.2 B RAFEE
( ) ( ) 3 CHUCK
CR52-170 170 52 7 30(3059) 65(6628) 5000 125 o o o
R26A4  A2-4 26 5 20(2039) 44(4486) 7000 45 . CatNo./O/O/DO CatNo. /O/O /O
CR60-170 170 60 7 30(3059) 65(6628) 5000 115 CR26 (2039) 44(4486) cros
R30A4  A2-4 30 5 20(2039) 44(4486) 7000 41 M-667 /26/22/18 161E/8744 /26 /22 /18
CR60-220 220 60 7 30(3059) 65(6628) 5000 155 D (2039)  44(4486) orso e
CR42A5  A25 42 7 25(2549) 55(5608) 6000 6.2 M-669 /30 /26 /21 163E/4249 /30 /26 / 21
CR80-220 220 80 7 35(3568) 73(7443) 4000 19.5 (2549) 55(5608)
CR42A6  A26 42 7 25(2549) 55(5608) 6000 8.2 CR42  M-673 /42/36/30 173E/4728/ 42/ 36/ 30
e R R R g e e
R CR60A6  A26 60 7 30(3059) 65(6628) 5000 13 CR60  M-677 /60/52/42 185E/4291/60 /52 / 42
CR42-140 155 114 100 23 10478 140  Me6xP1.5 60  Ms55xP20 25 18 6 119  3Mi0 31 CRE5A6  A26 7 7 30(3050) 65(6628) 5000 106 CR65 ) /_  SAD6S /675847
CreAdrd W8 089 08 & ikEes W) WEDRIE  Ger  WEDERO @) @ WY SR 8 CRB0OA8 A28 80 7 35(3568) 73(7443) 4000 21 CR80  J-660 /80/69/56 193E/H-47/80/69 /56
CR60-170 185 139 130 30 13335 170  M9OxP15 796 M74xP20 25 18 6 179  6Mi2 3.1
CR80-220 235 167 156 82 17145 220  Mi14xP20 99  M90xP20 275 20 6 234  6M16 6.1 R
CR26A4 112 1035 85 30 8255 63.513 M50xP1.5 45  M4OxP15 15 22  3Mi0 23
CR30A4 112 1035 85 30 8255 63.513 M50xP1.5 45  M4OxP1.5 15 222  3Mi0 23
%ﬁjﬁé _ CR42A5 135 127 100 27 10478 82.563 M66xP1.5 60  M55xP2.0 25 309  4Mi0 3.1
CR42A6 170 127 100 32 13335  106.375 M66xP1.5 66  M6OxP2.0 22 309  4Mi2 31
NO. CatNo./O/0O/O CatNo. /O/0 /O
CR52A6 170 144 130 27 13335  106.375 MOOXP1.5 667  M60xP2.0 30 209  4M12 34
CR42  M673 /42/36/30 173E/4728/42/36/30
CR60A6 170 145 130 27 13335  106.375 MOOXP1.5 796  M74xP2.0 25 299  4M12 31
CR52 — J—/—/—  A77E /52/45/36
CR65A6 170 135 136 27 13335  106.375 MO5xP15 81  M75xP2.0 20 299 4M12 31
CR60  M-677 /60/52/42 185E/4291/60/52/ 42
CR80A8 220 170 156 35 17145 139719  M{14xP20 99  M9OxP20 275 324  6M16 6.1

CR80 J-660 /80/69/56 193E/H-47/80/69/56

- Spring Collet - - Multi-Bore Collet -



- AUTO
strona@ A STRONGHOLD BY PRECISION AND POWER.

W U v
Al B1
M J a R1 X L z
: L4l
=3 oS 3 = . S P —
= E 2 g 2 R\ s —= [=
Al 3 \ LA | ] b hl -
High speed through-hole rotary = - = PEREREE s 2 I I ~HolelZags
hydraulic cylinder o\l W -/B R i e & e ST
1 EES  EBRNRE - BIR)E(MAX 95mm ' G : 7 /' _ _
524E) - BREB(MAX 4.5kgiRIEME) - SRR HIEAE o wi/ %
EEE - ERIEHHNELE - “ ! L TV
2. BAMBEN : LENENHSATIRS20%MWE [ i
B3 CTEHARE N TS RER - n i =
3. BRI © EIEEIRIHI AR RIS RIS - == B

BE{i7 : mm

mamen
R~

MO0926A 9 108 25 8-M5x10 6-M8x15 110 76 58 44 15 30 53 4 4-M4x7 5 PT1/4" 6 116 M34x1.5 32 15
MO0928A 9 108 25 8-M5x10 6-M8x15 110 76 58 44 15 34 53 4 4-M4x7 5 PT1/4" 6 116 M34x15 32 15
M1036 11 1205 25 6-M5x10 6-M10x17 126 88 68 53 15 38 64 4 6-M5x12 5 PT3/8" 6 136 M44x1.5 42 14
M1038 11 1205 25 6-M5x10 6-M10x17 126 88 68 53 15 40 64 4 6-M5x12 5 PT3/8" 6 136 M44x15 42 14
M1236 11 1265 25 6-M6x12 12-M10x20 135 98 76 47 15 38 76 4 4-M5x12 6 PT1/2" 6 169 M52x1.5 50 14
M1246 11 1265 30 6-M6x12 12-M10x20 135 98 76 47 15 50 76 4 4-M5x12 6 PT1/2" 6 169 M52x1.5 50 14
M1546 11 1335 30 6-Méx12 12-M10x20 145 110 86 47 15 50 85 4 4-Mexi2 7 PT1/2" 6 188 M58x1.5 56 13.5
M1552 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 55 85 4 4-Méxi2 7 PT1/2" 6 188 M58x1.5 56 13.5
M1768 175 1525 35 6-M6x12 12-M10x20 166 155 101 47 15 70 108 4 4-Méx12 7.5 PT1/2" 6 215 M84x2 81 125
M1870 175 15625 35 6-M6x12 12-M10x20 166 155 101 47 15 75 108 4 4-M6x12 7.5 PT1/2" 6 215 M84x2 81 125
M1875 175 1525 35 6-M6x12 12-M10x20 166 155 101 47 15 80 108 4 4-Mé6x12 7.5 PT1/2" 6 215 M84x2 81 125
M1878 17.5 1525 35 6-M6x12 12-M10x20 166 155 101 47 20 82 108 4 4-Méx12 7.5 PT1/2" 6 215 M84x2 81 125
M2078 21 166.5 35 6-M6x12 12-M12x24 182 165 110 47 20 84 120 4 4-Méx12 7 PT1/2" 6 240 M99x2 96 20
M2085 21 166.5 35 6-M6x12 12-M12x24 182 165 110 47 20 89 120 4 4-Méx12 7 PT1/2" 6 240 M99x2 96 13
M2091 21 166.5 35 6-M6x12 12-M12x24 182 165 110 47 15 95 120 4 4-M6x12 7 PT1/2" 6 240 M99x2 96 13
B : mm M2511S 21 169.5 45 6-M6x12 12-M16x32 192 206 132 55 20 123 160 5 4-Mé6x12 7 PT1/2" 6 294 — 1346 —

Bz
18
B
MO0926A 90 53.2/48.3 19.9(2029) / 18(1835) 10 4.0(40.8) 8000 0.006 5.7 3.0 R =t

M0928A 90 53.2/48.3 19.9(2029) / 18(1835) 10 4.0(40.8) 8000 0.006 515 3.0 M0926A 120 100 80 65 44 M34x15 26 25 63 44 59 76 90 105 151 14 4 35 25 3 5
M1036 105 71/68.5 26(2651) / 25(2549) 15 4.0(40.8) 8000 0.011 8.6 3.0 M0928A 120 100 80 65 44 M38x15 28 25 63 44 59 76 90 105 151 14 4 35 25 3 5
M1038 105 71/66 26(2651) / 24.5(2498) 15 4.0(40.8) 8000 0.011 8.5 3.0 M1036 136 115 100 65 48 M42x1.5 36 32 71 55 73 88 104 115 1745 15 0 39 24 25 5
M1236 125 100/89 38(3875) / 33(3365) 15 4.0(40.8) 7000 0.019 13 3.0 M1038 136 115 100 65 50 M44x15 38 32 71 55 73 88 104 115 1745 15 0 39 24 25 5
M1246 125 100/89 38(3875) / 33(3365) 15 4.0(40.8) 7000 0.019 12 3.0 M1236 155 130 100 80 65 M42x15 36 36 76 64 8 98 118 114 179 15 0 40 25 5
M1546 155 161/154 60(6118) / 57.8(5894) 22 4.0(40.8) 6200 0.056 18 3.9 M1246 155 130 100 80 65 M55x2 46 36 76 64 8 98 118 114 179 15 0 40 25 4 5
M1552 155 161/150 60(6118) / 56(5710) 22 4.0(40.8) 6200 0.052 16.8 3.9 M1546 190 170 130 85 65 M55x2 46 36 84 73 96 114 137 130 1905 22 0 475 255 35 5
M1768 175 184/183 69.3(7067) / 69(7036) 25 4.0(40.8) 4700 0.096 27.5 4.2 M1552 190 170 130 85 70 MeOx2 52 36 84 73 96 114 137 130 1905 22 0 475 255 35 5
M1870 180 198 /183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 26.5 4.2 M1768 215 190 160 120 85 M75x2 68 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M1875 180 198/183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 26 4.2 M1870 215 190 160 120 95 M78x2 70 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M1878 180 198 /183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 235 4.2 M1875 215 190 160 120 95 M85x2 75 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M2078 205 262 /234 98(9993) / 88(8973) 23 4.0(40.8) 3800 0.15 36.5 4.5 M1878 215 190 160 120 95 M87x2 78 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M2085 205 252 /234 94(9585) / 88(8973) 30 4.0(40.8) 3800 0.15 37.5 4.5 M2078 240 215 180 140 110 M90x2 78 36 104 108 138 158 182 177 248 23 0 55 32 3 5
M2091 205 252 /234 94(9585) / 88(8973) 30 4.0(40.8) 3800 0.15 37 4.5 M2085 240 215 180 140 110 M93x2 85 36 104 108 138 158 182 177 248 30 0 BB 2B 3 5

M2511S 250 348/ 336 124(12644) / 120(12236) 23 4.0(40.8) 2800 0.41 53 7.0 M2091 240 215 180 140 110 M100x2 91 36 104 108 138 158 182 177 248 30 0 556 25 3 5

M2511S 310 275 230 166 140 M130x2 1175 36 101 148 178 190 232 215 258 24 1 38 15 3 6



LS ISISISoS oSS
e
P o e
ST
T

AUTO
Stranq A STRONGHOLD BY PRECISION AND POWER.

. EREEI g E R
Super high speed through-hole compact

- rotary hydraulic cylinder v
B1 Y1
1NVEUEEE  RIEMEIE30% @ SEITENMAEERE - HEEH L e

NaH - 2251
2. RE1BE - AKTELLRARE - BARERBEER - BHiARE -

3. RN RREUHESNRMEH -

U1

#s
7P
#N1 (H7)

PM1 | (H8)

55

MK1775 » MK1881

?33

B8l : mm

R 1

MK1246 85 795 25 M6x10 12-M10x20 84 98 76 47 15 50 76 4 M5x6 9 PT3/8 12 165 M52x1.5 50 15 M8

MK1246F 85 895 30 M6x10 6-M10x20 94 98 76 47 15 50 76 4 M5x6 9 PT38 8 165 M52x1.5 50 15 M8

MK1452 9 88 30 M6x12 12-M10x20 93 110 86 47 15 55 85 4 M6x6 16 PT3/8 12 184 M58x1.5 56 12 M8

MK1452F 9 95 30 Méx12 6-M10x20 100 110 86 47 15 55 85 4 M6x6 16 PT3/8 8 184 M58x1.5 56 15 M8

MK1768 17.5 99 30 M6x12 12-M10x20 110 155 100 47 15 70 108 4 M6x10 7 PT1/2 12 216 M84x2.0 81 18 M10

MK1775 17.5 99 30 Méx12 12-M10x20 110 155 100 47 15 80 108 4 M6x10 7 PT1/2 12 216 M84x2.0 81 18 M10

MK1778 17.5 99 30 M6x12 12-M10x20 110 155 100 47 15 82 108 4 M6x10 7 PT1/2 12 216 M84x2.0 81 18 M10

MK1881 17 106 35 M6x12 12-M10x20 115 166 105 47 15 85 113 4 M6x10 16.5 PT1/2 12 226 M89x2.0 86 19 M10

&7 : mm
BB O OTEY OB OB OB W ow o
R

MK1246 128 102.6/91.4 43.6(4466) / 38.9(3967) 16 4.5(45.9) 8000 0.017 8.6 3.1 MK1246 162 147 147 130 75 65 M55x2.0 46 40 58 64 85 116 120 120 13 -3 44 28 8
MK1246F 128 102.6/91.4 43.6(4466) / 38.9(3967) 16 4.5(45.9) 8000 0.018 9.2 3.1 MK1246F 162 130 147 100 75 65 M55x2.0 46 40 68 64 85 116 120 130 14 -2 44 28 5
MK1452 145 133/122.6 56.5(5761) / 52.1(5313) 22 4.5(45.9) 6500 0.028 12 3.9 MK1452 184 165 165 140 80 70 M60x2.0 52 40 66 73 96 135 130 130 19 -3 53.5 31.5 8
MK1452F 145 133/122.6 56.5(5761) / 52.1(5313) 22 4.5(45.9) 6500 0.029 12.5 3.9 MK1452F 186 170 165 130 80 70 M60x2.0 52 40 73 73 96 135 130 137 21 -1 53.5 31.5 5
MK1768 170 166/ 152 70.7(7209) / 64.7(6597) 25 4.5(45.9) 5500 0.065 19.4 45 MK1768 212 195 195 160 105 95 M75x2.0 68 46 71 98 121 164 160 157 22 -3 50 25 8
MK1775 170 166/ 152 70.7(7209) / 64.7(6597) 25 4.5(45.9) 5500 0.060 17.8 45 MK1775 212 195 195 160 105 95 M85x2.0 75 46 71 98 121 164 160 157 22 -3 50 25 8
MK1778 170 166/ 152 70.7(7209) / 64.7(6597) 25 4.5(45.9) 5500 0.059 17.4 4.5 MK1778 212 195 195 160 105 95 M87x2.0 78 46 71 98 121 164 160 157 22 -3 50 25 8
( ) ( ) 8

MK1881 180 187/171.9 79.5(8107) / 73.1(7454 25 4.5(45.9) 4800 0.087 24 4.5 MK1881 222 205 205 168 110 100 M90x2.0 81 46 71 108 126 175 175 167 23 -2 58 33



AUTO
mna@ A STRONGHOLD BY PRECISION AND POWER.

8 B o 7= I8 85 h [BR T
Compact high speed through-hole

rotary hydraulic cylinder

1 WEIEE - RIEMEIE30% > BRRERNMEERTE  REXHNEEH -
2. REBE - AEREFEILRAKE - BRETEER - BHIEMRE -
3. BRI AN - RIGFMMERBRE - BRRTREELERE

R1 Al B1 Y1 6-Z1
25 B = 1
=T
] s sl
m&iz'@i,is? Ruxiirﬂiiou.gao5
@@é@}ég 8 15 N 5| [u]f et Q@g@@@
T 3 Q
yal - _U"gfl'
Eﬁ'/ NS
H
W1
6-E1
L z
A 7 ai
n
% v PT1 K1
933
E8fi7 : mm
MA1453 145 133.8/123.5 56.8(5792) / 52.4(5343) 20 4.5(45.9) 6500 0.032 12 3.9

B
R
MA1453 183 165 140 80 70 Me60x20 53 36 645 73 96 135 130 134 19 -1 47 27 8

B
R~
MA1453 8 96 30 Mexi2 96 110 78 47 15 55 85 Meéx7 11 PT38 10 183 M58x1.5 56 14 M8x70

ML-CM.B
AT

Extra large through-hole rotary hydraulic
cylinder

1. BARAHEMERRERE=EA -

2. ERABKREEGEME  BESERFRHIEMEE -
3. A IR RIE DRSS -

4. BARBEILRET - BREKERTERNEKE -

5. M IZFRA KRR KR -

+ . .
s "
PT1-104° 1 W PT1-14"
B39 @39

BE{i7 : mm
ML2814CM28B 285 394 / 350 116.8(11910) / 106.8(10584) 42 3.3(33.6) 2000 1.08 87 9
ML2816CM28B 285 394 / 350 116.8(11910) / 106.8(10584) 42 3.3(33.6) 2000 0.90 72 9
ML3320CM33B 335 515.7/416.9 152.9(15591) / 136.9(13960) 42 3.3(33.6) 1600 1.09 103 10

B
R
ML2814CM28B 335 280 240 190 M158x3.0 145 140 382 260 279 41 -1 67 25 18 202 M16x32L 150

ML2816CM28B 335 280 240 190 M180x3.0 1665 140 382 260 279 41 =1 67 25 18 202 M16x32L 170
ML3320CM33B 390 320 280 230 M215x3.0 205 147 392 260 292 41 -1 67 25 18 210 M20x32L 210



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

= E AR P = B ]

High speed and compact through-hole
rotary hydraulic cylinder

1. BEH > BIERE HEEHAaNE  SERSHNAETET -
2. RRWEAMIT RIS > REZVHERENIARS -

CM.B
e TIE DS

Hydraulic cylinder coolant collector

1. TRRITEBEREERHKEIYL
2. EEFEBASE -

4-Q1 w U \i
9 B1 L 5
2-PT1/4"
Fig-1
L1 r J
~. Pl
g { SINIE i
= & 1]| c1 = i
SEl  Ade T Ep=dolEo o .
| = e 2% B E a Ww e T
(ST S :H s Jl = i
1 = u\t
Wi i S_H
i 8 SR EE ST [ W
! = S.l&l [t
PT 3/8" ; E" -
(MM17758B PT1/2") N
, Gt N_Ft
5-_"‘_5_/ J
|
(
1.5]| !
—
1.5 | C
"W D
Efi1 : mm PTM
&l 3
R B
MMO0933B 90 50.3 /47 19.1(1947) / 17.8(1815) 10 4.0(40.8) 8000 0.012 59 0.8 E{17 : mm
MM1036B 100 64 /60 23.8(2427) / 22.3(2274) 5 4.0(40.8) 8000 0.013 7 0.8 % Ej'c
MM1036B15 100 64 /60 23.8(2427) / 22.3(2274) 15 4.0(40.8) 8000 0.014 7.4 0.8 . MO0926A. M0O928A
CM09B 825 30 35 715 106 555 77 43 5 475 175 30 67 90 105 PT3/4" 76 44 4-M4 Fig2 MMO0933B. MM10368 0-85
MM1246B 125 100/ 89 38(3875) / 33(3365) 15 4.0(40.8) 7000 0.027 11.8 3.0 : !
CM10B1 825 40 35 715 106 555 77 52 5 475 175 30 75 — 105 PT3/4" 88 44 6-M5 Figl M1036, M1038 1.0
MM1552B 155 161/150 60(6118) / 56(5710) 22 4.0(40.8) 6200 0.046 16 3.0 ) M1236. M1246
CM12B 1175 48 42 855 142 74 107 61 5 60.5 175 30 87 — 130 PT1" 98 47 4-M5 Figl MK1246 MM1i2468 1-6
MM1775B 170 169/ 154.5 63.5(6475) / 58(5914) 25 4.0(40.8) 4200 0.081 22 4.5 . M1546. M1552
CM15B8 1175 55 42 855 142 74 107 67 5 605 175 30 98 — 130 PT1" 110 47 4-M6 Figl MK1452. MM15528 1.6
" ] M1768, M1875,
A =t CM18B 155 80 42,5 865 184 94 147 92 5 585 175 30 1283 — 150 PT1 155 47 4-M6 Figl MK1775, MM1775B 2.0
R ~t CM18BK 155 80 425 86.5 184 94 147 97 5 605 19.5 30 126 175 150 PT1" 166 47 4-M6 Fig2 MK1881 2.0
MMO0933B 120 100 80 46 M40x1.5 3359 90 48 152 10 O 30 20 58 25 6-M8x15 1215 76 46 25 10 36 M4x9L M39xP1.5 5 37 CM20B 155 95 425 865 184 94 147 106 5 605 17.5 30 140 — 150 PT1" 165 47 4-Me Figl M20K/|82'0’¥)|12085‘ 2.1
MM1036B 134 115 100 48 M42x1.5 36 52 90 48 144 10 5 17 12 57 20 6-M10x15 1135 76 46 25 10 38 M4x9L M42xP1.5 2 40 CM25B 200 120 44 895 230 117 192 — 12 60 21 27 179 — 180 PT1" 206 47 4-Mé Figl M2511S 2.4
MM1036B15 134 115 100 48 M42x1.5 36 66 90 48 158 15 0 30 15 57 25 6-M10x15 1275 76 46 25 15 38 M4x9L M42xP1.5 3 40 CM28B 254 170 52 103 285 147 240 182 8 745 20.5 20 222.6 278 260 PT 1-1/4" 256 85 4-M6 Fig2 ML2814, ML2816 4.2
MM1246B 155 130 100 65 M55x2.0 46 76 117 61 179 15 40 25 59.5 30 12-M10x20 140 98 59 25 15 50 M5x6L M52xP1.5 50 CM33B 300 208 52 101.5 330 — 285 222 8 745 205 20 262.6 328 259 PT 1-1/4" 308 70 4-M6 Fig2 ML3320 7.2

MM1552B 190 170 130 70 M60x2.0 52 84 135 68 189 22
MM1775B 212 190 160 95 M85x2.0 75 95 164 82.5 208 25

o O O
N
N
n
o

©
62.5 30 12-M10x20 150 110 68 25 15 55 M6x6L M58xP1.5 9 56
50 25 64 35 12-M10x20 163.5 155 82.5 31 15 80 M6x10L M84xP2.0 9



Siro

AUTO

nG

A STRONGHOLD BY PRECISION AND POWER.

2-M5x10

MS
EEH R (1)

Non through-hole rotary hydraulic
cylinder (valve included)

- B¥ELERE -

11

2-PT3/8"

1
L A
1 J
?G
@F
PE h7
#D20.2
@C

BE{T : mm

MS105
MS125
MS150
MS200

105
125
150
200

86/79
122/113
176 /160
314 /290

32(3263) / 29(2957)
46(4691) / 42(4283)
66(6730) / 60(6118)

117(11930) / 108(11013) 35

20 4.0(40.8) 6000 0.0125 71

25 4.0(40.8) 6000 0.0225 10

30 4.0(40.8) 5500 0.0475 13.5
4.0(40.8) 5500 0.0975 22

0.8
0.8
0.8
0.8

R 3

MS105
MS125
MS150
MS200

135
160
190
245

100 80
130 110
130 110
145 120

M20x2.5 35 197 108 89 152 45 25 6-M10x20
M24x3.0 44 205 108 97 160 51 26 6-M12x24
M30x3.5 45 214 108 106 169 56 26 12-M12x24
M36x4.0 60 228 108 122 183 69 34 12-M16x30

158
166
175
189

& EEH ERE]
(B -~ BHAERE)
Non through-hole rotary hydraulic cylinder

(valve and switch brackets included)

1. M3EIERE -
2. BHERERE -
3. EMAASE -

»

G

@PF
@Eh7
@D=0.2

@C

E8fi7 : mm

MS105C
MS125C
MS125C35
MS150C
MS200C

B
R~
MS105C
MS125C
MS125C35
MS150C

MS200C

105
125
125
150
200

135
160
160
190
245

100
130
130
130
145

84/79
120/ 113
120/ 113
174 /160
312/290

80
110
110
110
120

- RIREHET] ¢ SBET14.0MPa (40.8 kgf/cm?)
- {78 : MEI3.0MPa (30.6 kgf/cm?) RIRE50°C
- STHERIRE ¢ #IZBESS 16-329-E4-Y (BALLUFF) DC 12/24V 200mA NPN

31 (3161) / 29 (2957) 20
45 (4589) / 42 (4283) 25
45 (4589) / 42 (4283) 35
65 (6628) / 60 (6118) 30

117 (11930) / 108 (11013) 35

21 M20x25 35 257
25  M24x30 44 265
25  M24x30 44 269
31 M30x35 45 274
37  M36x40 60 288

168
168
168
168
166

4.0(40.8)
4.0(40.8)
4.0(40.8)
4.0(40.8)
4.0(40.8)

6000
6000
6000
5500
5500

152
160
164
169
183

0.0125
0.022
0.022
0.047
0.097

25
26
22
26

7.6
10.5
10.5

22.5

6-M10x20
6-M12x24
6-M12x24
12-M12x24
12-M16x30

0.8
0.8
0.8
0.8
0.8

158
166
170
175
189



AUTO
mna@ A STRONGHOLD BY PRECISION AND POWER.

MS250C/MS300C
SEEHEL (FPLLM - BANEE)
Non through-hole rotary hydraulic cylinder

(valve and switch brackets included)

1. EFEAUMBEEEBUFIRG - RAIREFESE -
2. TJERIm R IR
3. MRZFEILRARBHRECLERBESR) -

R E e e B E i H B EL

Short type non through hole
rotary hydraulic cylinder

1. BREERE  ERARIXER -

2. AKEIERRTRBMEB(IEHEMERE) -
3. REEMTTEREBIHMA -

M P
K P T Z
SEEE | 1! a
l -
—ﬁ 1 ] J
~
| o 1/ EECE
S S
1 Hi
i LJ 1 —
i
R
L
i1 : mm
MR10530 105 81/75.5 34(3467) / 31.7(3232) 30 4.5(45.9) 6000 0.015 6.8 0.8
MR12535 125 117 /107.5 49(4996) / 45(4588) 35 4.5(45.9) 6000 0.028 9.5 0.8
MR15035 150 171.1/156.7 72(7342) / 66(6730) 35 4.5(45.9) 5500 0.043 12.8 0.8
BB : mm MR20060 200 310/ 286 146(14887) / 134(13664) 60 4.9(50) 5500 0.55 49 2
MS250C 250 481.5/453.6 227(23147) / 214(21822) 60 4.9(50) 2000 0.85 73 2
MS300C 300 697.5 / 658.6 262(26716) / 247(25186) 60 4.0(40.8) 1500 1.60 106 g B

R 5

B 3t MR10530 143 143 125 100 80 30 21 M20x25 35 167 87 PT3@8" PT1/4" 50 20 6-09 6-MI0 155 78 5
MR12535 169 171 150 130 110 35 25 M24x3.0 44 174 94 PT3/8" PT1/4" 57 22 6011 6-M12 162 82 5
MS250C 300 275 220 160 65 62 44 M42x3.0 60 349 260 170 213 85 25 6-017 6-M20x30 219 153 MR15035 202 204 180 130 110 45 31 M30x3.5 45 175 95 PT3/8" PT1/4" 61 26 6-013 12-M12 163 82 5
MS300C 355 330 270 210 75 70 50 M48x3.0 70 359 270 182 223 85 25  12-@17 12-M20x30 229 165 MR20060 250 255 225 145 120 55 37 M36x4.0 60 270 156 PT1/2" PT1/2" 85 25 6-©17 6-M16 255 140 6

6

MR25060 300 305 275 220 160 65 44 M42x3.0 60 280 168 PT1/2" PT1/2" 85 25 6-©17 6-M20 265 150



AUTO
mna@ A STRONGHOLD BY PRECISION AND POWER.

MRA
ch BB AT T 5500 8 R R T

Short type non through-hole rotary hydraulic
cylinder with central bore for air

1. BEESRET BARIAER
2. AW IERRITEEHIZR
3. RO HEREA
4. TINEERINGE
EmnEE
MRA M P

for proximity switch

T Z
MRA - P %‘ 'g%‘
for linear positioning
1 T
2 [Ny =

i N
@E (h7)
@D2
@D1
@C
@C1

PT 1/8"

BAEREEN
Air pressure

Max. 0.8MPa(8kgf/cm?)

BE{T7 : mm

MRA12535 125 116/107.5 48.5(4945) / 45(4588) 35 4.5(45.9) 6000 0.028 9.3 0.8
MRA15035 150 170.2/156.7 71.6(7301) / 66(6730) 35 4.5(45.9) 5500 0.043 12.8 0.8
B
R

MRA12535 169 171 150 130 110 35 25 M24x3.0 44 177 94 PT3/8" PT1/4 57 22 6-011 6-M12 165 82 5
MRA15035 202 204 180 130 110 45 31 M30x35 45 178 95 PT3/8" PT1/4” 61 26 6-013 12-M12 166 82 5

==

e e 9

MRR
thEBE TN HIEG (B FEmEE)

Short type non through-hole rotary hydraulic
cylinder (for rotary union)

1. SEESEE - BARIXER
2. AL RITIREANSR
3. REREFOIHEREA
4. FEBEWEEADOAEK  ER
ERnEE
MRR K
for proximity switch 11 N
MRR - P M P
for linear positionin T z
o
J
E o = —
NS MEERS
[
\ 7
\H
Q2

BS{i1 : mm

MRR12535 125 113/107.5 47.3(4823) / 45(4588) 35 4.5(45.9) 6000 0.027 9.8 0.8
MRR15035 150 168.7/156.7 71(7240) / 66(6730) 35 4.5(45.9) 5500 0.055 13.5 0.8

B

R~
MRR12535 169 171 150 130 110 35 25 M24x3.0 44 229 164 94 124 57 22 6-@Q11 6-M12 130 82 50 15 5
MRR15035 202 204 180 130 110 45 31 M30x3.5 45 230 165 95 125 61 26 6-013 6-M12 131 82 50 15 5



AUTO

Sirong

t'l

MH-F

Non through-hole rotary hydraulic cylinder
CEE - RIEM B WHEBRIRAESEREMNK  KEELZ

1

& 1055 H B ET

A STRONGHOLD BY PRECISION AND POWER.

sEt TTLUREE BT A -

AR SMEZ 239 TR -

& TTRERLIHBIL S8 ©

L1 L2
For MH-F type ™\ ;
CE = ==
'—'_-_-/"—__"--—_—-
e j M
Ne—
- = ( A lulw o 5
\ N ISIRSTRSY a
- )
ULU L=
PT 1/4"
Drain Port L / H
2-PT 3/8" y
Pressure Port J G

o 5t
# 1
MH80 80 47.7142.8
MH100F 100 75.4/70.5
MH125F 125 121.1/114
MH150F 150 176/ 160

R 3

MH80 112 90 — 65 25 45 30
MH100F 135 100 115 80 25 45 25
MH125F 160 130 140 110 30 51 26
MH150F 190 130 170 110 45 50 20

o O O O

73.5
88.5
95.5
107

103
103
103

15 3.5(35.7)
20 3.5(35.7)
25 3.5(35.7)
30 4.0(40.8)

6-M8x16 — —
6-M10x19 6-M8x90 12
6-M12x20 6-M8x100 13
12-M12x20  8-M10x110 16

6000
5500
5500
4000

M16x2.0x32
M16x2.0x32
M20x2.5x32
M30x3.5x40

0.005
0.013
0.021
0.049

45
45
45
45

15.5
15.5
15.5
15.5

5.1
6.7
8.6
10.8

30.5
30.5
30.5
30.5

7B
S

B{i7 : mm

15.5(1580) / 13.9(1417)
24.5(2498) / 22.9(2335)
39.3(4007) / 37(3773)
66(6730) / 60(6118)

13.5
13.5
13.5
13.5

CRRER  IWHBC FERARERLRER REEEET

EE% HREREZHBIIARRSREIREEREENT

0.4
0.4
0.4
0.8

<SS SSSIST>
TSI ISESTOTITITDITS
ISTHCLIEESTIEISISISISS

81 : mm
2l
=B
HB4-160 50 39.2 29
BSfi1 : mm
24
R 1%
HB4-189 50 39.2 31
8] : mm
all 5
=B
HB4-2P 50 39.2 31 HE2486

HB4

sHNEM

Boring mill jaw

2. ME— 4B TEIERAR -

1 ERRERER « IXERK - RARET(EYARE -

210

70 70

50

| Stroke

97

14 29|



Siro

AUTO

nG

A STRONGHOLD BY PRECISION AND POWER.

H-13

ERnaE
- H-1
i H-6 H-8
I _. ._1
Wl
]
L3 -
© g ,._I_
1| - E ! ' | i |
T '
T ; T 3
1IN
1L 1 LX
v
H10 L N e
H-9 ' Serratior

H)
R R T

Hard jaw for hydraulic power chuck

1. MESREEREM -
2. CNCERFBREM -

Fig-2

7 [ H7
H-1
H-6 H-8
[ T
|
i
2 =[] : |
T
HEREAN
— ) \ ;
H-10 \ e H-12 H4
H-9 ' Serration

BSfi1 : mm

HJ05
HJO6
HJO8
HJ10
HJ12
HJ12-1
HJ15
HJ15-1
HJ24-1
PB600
PB850

53
67
86
99.5
103
103
149
149
159.5
140
220

23
31
35
40
50
50
62
62
80
60
75

275
35
51
54
52
52
86
86
90
75
85

10
12
14
16
21
18
22
2515)
25
25.5
30

30.5
39.5
31
43
62.5
62.5
63
63
104.5
50.35
130

14
20
25
30
30
30
43
43
50
38
62

22.5
27.5
18
17
40.5
40.5
34
34
55
49.86
90

13.5
17
19
19
25
22
32
32
32
31
38

8.5
11
13
13
17
15
21
21
21
21
26

10 M8 6 1.5x60° Fig-2 N-204, N-205, V-205 0.4
12 M10 11 1.5x60° Fig-2 N-206, NL-06, V-206 1.0

12 M12 12 1.5x60° Fig-1 N-208, NL-08, V-208 1.9
13 M12 15  1.5x60° Fig-1 N-210, NL-10, V-210 2.9
17 M16 30  1.5x60° Fig-2 N-212 3.5
17 M14 30  1.5x60° Fig-2 V-212 3.6
20 M20 40  1.5x60° Fig-1 N-215, N-218 9.6
20 M20 40  1.5x60° Fig-1 V-215, V-218 915

40 M20 55 3.0x60° Fig2 Voo Vs VEss 143

19 M20 21.1 3/32'x90°  Fig-1 PB-ES600 7.2
30 M25 35 3/32"x90°  Fig-2 PB-ES850 20.2

SESLECICISISISISS
S
DSEHCIELHTICIISSTITITSISIS
PSEACISTICESTIC IS ISISOS S OSS
e S e S S S S
CIST AL AL THFC ST TSI o TS TS S
P S S oo
P eSS e
T

SKC

58 NDBIE M

Soft jaw for strong scroll chuck

1. =M&BHEABEM -
2. FHRRAERGTRIE -

C-3

C-1
, C-4 ., C-5 C-2
[ |
: ! !
® | |
o , | !
| == 1("_)
[+ ] I [! © |
I
- I\ — —{ =
Cc-7 c-1g co g C-11
C-6

BE{i7 : mm

SKCo04 52 19 30 24 14 11 21 M6 953 794 25 3.5 SK-4 0.45
SKC06 73 26 37  38.1 17.45 14 25 M8 12.68 7.94 3 3.5 SK-6, KD-6" 1.5
SKCo07 95 31 48 4445 25275 17 11 34 M10 1268 7.94 3 3.5 SK-7, SK-8, KD-8", KA-8" 2.7
SKC09 110 37 48 54 28 19 13 34 M12 19.08 127 3 3.5  SK-9, SK-10, KD-10", KA-10" 3.7
SKC12 125 40 54 63.5 30.75 19 13 38 M12 19.03 127 3 3.5 SK-12, KD-12", KA-12" 4.9
SKC16 160 50 70 76.2 41.9 25 17 48 M16 19.08 127 6 6 SK-16 11
HE2486 155 59 86 76.2 52.9 32 21 66 M20 19.03 127 6 4 HB4-2P 19.2(4PC)



AUTO
Stranq A STRONGHOLD BY PRECISION AND POWER.

HEBERFREEEM
Soft jaw for hydraulic power chuck

1. HESREEREM -
2. CNCERB4Y.M -

EmnEE
, fESerration
' A\
[} ¢
0 Pitch 1.5 RO
o \
C-1 b .
o' |25 Leoos
C6  CT c-8 c-2 s T
T
: NI ! Pwn3o Ao
Lo}
35 | LI e
EEN S |
P I S ==
c-10 \ooNC2 _0-4_]
(o | HigaSerration
BT : mm
B R
R~
HCO04 52 23 23 10 5 10 14 28 14 9 13 M8 3 1.5x60° N-204 0.45
HCO05 62 25 30 10 5] 10 14 38 14 9 20 M8 3 1.5x60° N-205, V-205 0.7
HCO06 73 31 3 12 5 15 20 38 17 11 24 M10 14 1.5x60°  N-206, NB-306, NL-06, V-206 15
HCo8 95 35 37 14 5 24 25 46 19 13 22 M2 16 1.5x60°  N-208, NB-208, NL-08,V-208 2.4
o N-210, NB-210,NB-310,
HC10 110 40 42 16 5 30 30 50 19 13 27 M12 18 15x60 K110, V210 3.7
HC12 130 5 50 21 5 40 30 60 25 17 30 M16 23  1.5x60° N-212, NB-212 6.5
HC15 165 62 62 22 8 37 43 8 32 21 37 M2 — 15x60° N-215 N-218, NB-215,NB-218 12,5
HC08-1 95 3 37 12 5 24 20 51 17 11 22 M0 16 1.5x60° NHT-208 2.4
HC12-1 130 50 50 18 5 40 30 60 23 15 30 M14 23  1.5x60° V-212, V-212R 6.6
HC15-1 165 62 62 255 6 37 43 8 32 21 37 M20 — 15x60° V-215 V-218, V-215R, V-218R 125
o N-220, N-224, V-221, V-224
HC24-1 180 64 70 25 9 40 60 80 32 21 45 M20 —  3.0x60 V-221R’ V-224R 15.8
HC32-1 210 74 90 25 9 40 80 90 32 21 65 M20 —  3.0x60° V-232R 29.2
HC15-2 156 64 70 26 9 34 50 72 32 21 45 M20 —  3.0x60° V-215(P3.0).V-218(P3.0) 13.4

BhiT\ IR A T

Soft jaw for draw down power chuck

B8l : mm
B
R
DR-06 70 35 34 10 6 43 —_ 10 23 15.5 21 M14 25 DR-06 1.5 Fig-1
DR-08 84 40 44.5 16 7 53 26 12 20 135 29 M12 3.5 DR-08 2.7 Fig-2
DR-10 100 50 49.5 18 7 62 32 15 23 15.5 32 M14 3.5 DR-10 4.6 Fig-2
DR-12 120 60 54.5 20 7 78 36 17 26 17.5 36 M16 3.5 DR-12 7.5 Fig-2
Fig-1 Fig-2
‘j Sl g
-_£ = ] i
C1
c1 ) )
. 6 : .tz C-10 o] c-2
] t T T i
| ! |IiJ X ° [
Sei-le 3‘ jm eg | % g :’T Lo
c9 (LA
[wus] 3 — ~,
(=] ~ 8
BEIVREEE B EEM
Soft jaw for ball swing lock chuck
BE{i7 : mm
S
R
BL-12 108 70 70 57.1 3.3 19 44.45 25 17 59 M16 BL-12 10.6
(%]
c6_ Cc7 _ e c-2 -
) | i
3 ' 2 i
1 T |6|'_ i i
C{{f;_{ 12 e
V—3 =rv =
m]
REBINEFAREEZEHEM
Soft jaws for pneumatic power chuck .
1/ mm
S
R
PB600 205 60 60 25.5 6 25 38 104 32 21 44 M20 55 PB-ES600 13.5
PB850 320 80 80 30 7 35 60 165 38 26 53 M24 110.5 PB-ES850 40.2

HF#iSerration
(NN (7
QOO —— =
[cs__c7 o7 - cs ] —cz k/\/\éU

05| <o >

c-3

c-11

c-10 \
LG9 | HrifiSerration



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

. HC40-1
A h B R RS BB A T

Soft jaw for hydraulic power chuck

EE£ Weight
17 kg / PC
- 270 -
ERTAH 145
_ 7862 _ 762 _ _ B84
T HT T |
L |I| Ill l| F |
Al ; P bt
voe ] i ™\ o= B
| |_19.03 | M24 - 130
H])40-1
AREDPEHEIEEM
Hard jaw for hydraulic power chuck
T B8 Weight
! 11 kg / PC
, 223
‘ ‘_ 62 381, .I_,__B_é_..|
E ‘ ' g
N T Eftisain
%26 - '_‘—1—‘1-19.03 M o —LSD.___
. 140

ADAPTER
I

Mounting adapter on short taper
spindle noses DIN55026

= ___, - BEEREREHETHEIRFFTSDINSGS026 -
TYPE1 R 87 : mm

R
ERTEH N-205A4 A4 110 63513 8255 311 15 N-205
NT-205A4 A4 110 63513 8255 411 15 NT-205
N-206A5 A5 140 82563 10478 611 15 N-206, NB-306, NL-06, V-206, DR-06
NT-206A5 A5 140 82563 10478 611 15 NT-206, VT-206
E NIT-206A5 A5 140 82563 10478 411 15 NIT-206
) = N-208A6 A6 170 106375 13335  6-13 17 N-208, NB-208, NL-08, V-208, DR-08
fL_____"_' NT-208A6 A6 170 106.375 13335 613 17 NT-208, VT-208
R NIT-208A6 A6 170 106375 13335 413 17 NIT-208
NHT-208A6 A6 170  106.375 13335  6-13 17 NHT-208
§ r1ds N-210A8 A8 220  139.719 17145 617 18 D R I
NT-210A8 A8 220  139.719 17145 617 18 NT-210, NT-212, VT-210, VT-212
o = NIT-210A8 A8 220  139.719 17145 417 18 NIT-210, NIT-212, VIT-212, VIT-212R
o :_I_. N-215A11  A11 300  196.869 235 621 22 D15
S NT-215A11 A11 300 196.869 235 621 22 NT-215, VT-215, NT-218
NIT-215A11 A11 300  196.869 235 421 22 NIT-215, VIT-218, NIT-218
V-224A15  A15 380 285775 3302 625 27 N e G ooar rosane D
VIT-224A15 A15 380 285775 3302 825 27 VIT-224R, VIT-232R
N-224A20 A20 520 412775 4636 626 25 N-224, N-232, V-240, V-250
VIT-240A20 A20 520 412775 4636 826 25 NIT-224, VIT-240, VIT-250
TYPE2 BT : mm
R 5
-E. N-206A4 A4 140 63513 8255 11 10478 M10 20 N-206, NT-206, NIT-206, NL-06, V-206
- ;__5? — ] N-208A5 A5 170 82563 10478 11 133.35 M12 23 N 08, L ba. v o0s, \roea®
NG g N-210A6 A6 220 106375 133.35 13 17145 MI16 25 \igjoviaio v o1e VT es T 218, NB 210, Nb-2 19
R N-215A8 A8 300 139.719 17145 17 235 M20 33 Ve e e e v aa it o 4
s &8s N-220A11  A11 380 196.869 235 21 3302 M24 41 N-220, VIT-232, NB-215, NB-218, VIT-224, V-232
S N-224A11  A11 520 196.869 235 21 4636 M24 45 N-224, N-232, V-240, V-250, NIT-224
=1 N-224A15  A15 520 285775 330.2 25 4636 M24 42 VIT aa s, N i 250
£ V-224A8 A8 380 139.719 17145 17 3302 M24 33 V-221, V-224, N-220, NB-215
V-224A11  A11 380 196.869 235 21 3302 M24 27 V-221, V-224
VE-263A20 A20 720 412775 4636 27 647.6 M30 50 VE-263, VE-279
TYPE3 {17 : mm
R~
= V-205A4 A4 80 63513 8255 11 100 6-M8 120 26.5 V-205
E‘ N-205A5 A5 110 82563 10478 11 82.55 6-M10128 32 N-205, NT-205
. @lQZ  N-206A6 A6 140 106.375 133.35 13 10478 M10 165 35 N-208, T e e g 8 V-206:
N-208A8 A8 170 139.719 171.45 17 133.35 M12 208 40 N-208, N 308, VT 208 KTti-208" |~ 0
N-212A11  A11 220 196.869 235 21 17145 M16 278 50 N-2IQNT210, NIT-210, Ni-10, N-212 NT-212, MT-212
N-215A15  A15 300 285.775 330.2 25 235 M20 378 57 V212 Jae ey, N2is. e-21g

' V-224A20 A20 380 412.775 463.6 26 330.2 M24 520 58 N-220, V-221R, V-224R, V-232R



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

T-NUTS
TR

Suitable for power chuck
- B PR B S EE o

e i ] 5€ B
High speed and light weight type strong

finger chuck for aluminum wheel

1. F2RliRRERERASRSENME - FRFEBELREEL
RAEEE - LIESEEE R -
2. MEHEEZEWFEDIN, BS, ISO, ASA, B5-9, AR 7 X i{Z# -

Fig. 3
/j
e
&)
—F
N J B _ B _ o
l ‘ " - —PA 4 D M50xP1.5 s
o L. B i NI ]
) e e o iy oo TR
, | = ® I
xll Lok ] §g§ LBSE - =
AE
;é 50
Max.90
Min. 55
&7 : mm
R ~f
N-205 26 145 15 10 14 6 55 M8 5 2 - — 1 N-204, N-205
N-206 3 175 185 12 20 82 75 M0 8 25 — — 1 N-206, NB-306, NL-06
N-208 465 205 205 14 25 105 85 Mi2 12 4 — — 1 N-208, NB-208, NL-08
N-210 51 225 215 16 8 11 85 M2 11 8 — — 1 N-210, NB-210, NL-10
N-212 555 295 278 21 30 12 115 M6 18 45 — — 1 N-212, NB212
N-215 80 335 455 24 43 17 165 M20 11 5 8 22 2 N-215, N-218
V206 365 175 225 12 20 75 75 Mi0 6 T V-206, NHT-208
V-208 48 205 255 14 25 11 95 M12 8 4 — — 1 V-208
V-210 55 225 255 16 80 11 95  Mi2 4 — — 1 V-210 FiL:mm
V215 42 S —— 9 Mo — % - - 3 V215, V-218 F52A8  12'-18" 521 A2-8 33.9(3456)  32.4(3303)  3.3(33.6) 2800(18"2200) 98 MS125C35
V21526 M20 42 3 412 26 — — 19 M20 — 25 — — 3 V-215P3.0
V-224 46 375 45 25 — — 19 M0 — 265 — — 3  N-220,N-224,V-221, V-224, V-232



AUTO
smna@ A STRONGHOLD BY PRECISION AND POWER.

i i | X 5
High speed and light weight type strong

finger chuck for aluminum wheel

1.FO1BRUERERE R ERASRSENME - FREBRELREEL
RRERIRE - IS iEEE KA -
2. FEEHEEBERELFSDIN, BS, 1ISO, ASA, B5-9, AR 7 FlfjiE# o

2139.719
_ 88
P78
I~ ] :
.. W
L)
Max.750

50_
1
Max. 90
LMin. 55| 151
{1 : mm
F61A8 13"-22" 610 A2-8 33.9(3456) 32.4(3303) 3.3(33.6) 1500 145 MS125C35

i i B 5X B
High speed and light weight type strong

finger chuck for aluminum wheel

1. FO6 B SRIRBERIEEASRSSHNME - FIEBIELREELR
MERE > NIEE0EE XA -
2. R EIERENRADIN, BS, ISO, ASA, B5-9, ABYZ T EhiZ# -

356
@171.45
@1398.719

B : mm

F66A8 19"-24" 660 A2-8 33.9(3456) 32.4(3303) 3.3(33.6) 1500 182 MS125C35



AUTO
Stronq A STRONGHOLD BY PRECISION AND POWER.

NL-A
= METRPze R (SEER)

3-jaw long stroke through-hole power chuck
(adapter included)

RS > DERBRTRE -

- BEESENME  BIESECERLBRRE -
- BT A Hr i EEE AR T -
CREHAEDENRIIKRE 1K - TEETR -

= BRI KEE
3-jaw ball swing lock chuck

1. A5 AN TS H; - MEE R3S - R ENE - B mIT g
BRI SCEERIEME RS £ - ISR ERFFIRE -

2. TMIMERFFEAERE - ERBERETUREFNRIMERIGERA

3. I kFFHEHEIM  FERUTERBERFAGHEREMNENFREANRE
REHE - SNTYRFNETERNEN TNFE(EATREE20°
W) ©

4. MEETI RS ED) - METRKRE R BIERESR) - MERESF(ER
BRATLAES) -

5. AREENMEY  AREREN—RKETFE  w#EBLEBME
% BRIREHEE (lock arm) SR BHEE - AIFLEEERA -

A W N =

k¢ Serration Pitch 1.5

—— =

oD

N

7 300
@220
@60
4.3
@171.45

25
il : mm (i :[
—
i
6M16/
NL-06A5 @40 15 24 2243 2651 28.5 3600 14.8 0.065 M1246 HJ06 HCo06 035-0168
5

NL-08A6 48 20 32 3701 4190 27.5 3000 28 0.21 M1552 HJ08 HC08 050-0215 T aes
NL-10A8 266 25 37.5 4853 4486 295 2400 43.5 0.44 M1875 HJ10 HC10 055-0256

R ~F B8fi7 : mm

NL-O6A5 168 96 140 20 15 82.563 116 104.78 16 6-M10 40 5 49 16.75 775 26 11 2 12 19 31 M55x2 3xM6 60 37 73 10
NL-08A6 215 112 170 25 17 106.375 150 133.35 18 6-M12 48 5 60.5 20.7511.75 31.5 11.5 2 14 20.5 35 M60x2 3xM6 66 38 95 10
NL-10A8 256 125 220 30 18 139.719 190 171.45 24 6-M16 66 5 74.5 24751125 265 1.5 2 16 25 40 M85x2 3xM8 94 43 110125 BL-12 17.5 12.4 40.7(4152)  122(12440) 2.8(28.5) 2800 65 0.18 MS150C BL-12 063-0240 / @127-0305




Sirong

AUTO

A STRONGHOLD BY PRECISION AND POWER.

DR

=MERTLFER

3-jaw draw down power chuck
1. i R R AR R B R R - B R EG RB

I -

2. BUARBGH ITHRMERER L - @RHEE - BREUH -

3. EHREGE  TRBER  IRAEERFNEERBE -
4. EENBEERORBENRETHF 2T - ERREBENN

ITHEE -

PA
@c

w2
PW1

V2

B : mm

a2
B W W & M OB e & o5 OW

15(1530)
25(2549)
35(3569)
35(3569)
44(4487)

DR-06 10
DR-08B 10
DR-10 16
DR-10D 16
DR-12 16

7.2
7.2
11.6
11.6
11.6

25(2549)
45(4589)
60(6118)
60(6118)
71(7240)

2.1(21.4) 3500
2.5(25.5) 3000
3.3(34) 2500
3.3(34) 2500
3(30.6) 2000

0.05

0.14
0.374
0.376

0.88

MS105C
MS125C
MS125C
MS125C
MS150C

DR-06
DR-08
DR-10
DR-10
DR-12

©35-0165
@40-0210
050-0254
054-0254
050-0304

R 1

32 335 45 35 35

DR-06 165
DR-08B 210
DR-10 254
DR-10D 254

DR-12 304

85 140
90 170
110 220
110 220
125 220

104.78
133.35
171.45
171.45
171.45

6xM10
6xM12
6xM16
6xM16
6xM16

58

544 33 23 14 4

713 677 38 28 15 5

878 82 48 32 226 6.6

102.

5
5
5 854 796 48 32 20 4
5
5

9 971 47 31 215 55

M16x2.0
M20x2.5
M24x3.0
M24x3.0
M27x3.0

37 42
50 60
50 60
52 60

56 46 45

66 50 55
68.6 52.6 85
725 56.5 100

20 Meéx12
25 M8x16
30 M8x16
30 M12x18
35 M12x18

P165
P TE S S

Floating plate center chuck
- ERREERERIME—RAMT -

INTEE
Possible processing range

B8fi7 : mm
a4 5
by
P165 35 1.0(10) 6000 18.5 0.02 MS125C35



AUTO
mna@ A STRONGHOLD BY PRECISION AND POWER.

" EMESEP=MERE (FEERR)

3-jaw extra high speed through-hole
power chuck(adapter included)

1. REE&EZETE10,000r.p.m. °

2. HNEU R EE{RRASA B5.9 AT T EiZE &5t -

.HNEXRERASHRESESMME - FRIEBIENEREEL RH
EEE > MRS REEE NI -

GRIPPING CHARACTERISTIC GRAPH

8000 ——

™S~

6000 \

4000

(16x)20104 Buiddug

2000

0 2000 4000 6000 8000 10000

Rotation speed(r.p.m)

E8fi7 : mm

HN-06 @36 12 5.5 30(3050) 79.4(8100) 2.9(30) 10000 11.5 0.035 HG-1336 Model-A @14-051

0‘ S>> < =<
G O
.“.‘.“‘0,“"‘_‘_
"0',0' oo
”'o —
ooz

SB-ES
REIVE) KR
Pneumatic power chuck

1. BERREREERE L
2. ERANMERFFZREREEA SR BILEE
3. BB FFHMEAMITE

. 6-M6 - B1 F5E$4 Anti-rotation pin T
L ER: 253 :H'I"L)x HE ¢ Serration Pitch 1/16"x90° R
Double thread bolt .Y Q -~/ .
1 r-_-
s o _ J =4
1 =) 5 \ . ﬂ e
] >t I T
Y€ ¢ IR '
S < & |
1S % i
-L — F . — SN -
' b
sl R
B2
M 1E[EIRE
E S Safety valve
FLP
B

87 : mm

350-115 115 15 10 5 486 2-10 88 2200 104 1.82 13.5 SB350 SB350 @30-@360

* 5 (& FIE S 6bark

R~

350-115 372 360 190 191.5 92 235 64/28 21 33.5 358 290.5 39.5 6-M12 115 6.5 100/85 12 33 3 21 G1/4" 44 92 M16 315 12 61 20 15




AUTO
mna@ A STRONGHOLD BY PRECISION AND POWER.

PB-ES
BB 115 28

Pneumatic power chuck

1. BRANEREZRBRIEE AN SR EBIEE -
2. BRER I MR MITE ©

3. BRFFATEBDIERA -

4. BRFITERA -

. ¢ Serration Pitch 3/32"x90° a’
v a % 7 A0 S LI
—=l=—  B.M8 _..T__ Pressure control R
% ; o Al
=
: =
T =k
| (i= -
= 2 :
z
[
<oz L = = 25
8la g 8o s
il
S = KL N
L <
-]
1 '
K J s
E ) | ErmuamsoR @)
- p RHTEBHES Pressure control
8 Clamping stroke control (O.D. clamping only)
I
|

g o1

P
s
B : mm
600-275 275 25.4 16.9 8.5 954 2-10 180 1100 360 20.6 39.5 PB600 PB600 ©135-0275
850-375 375 25.4 13.4 12 1342 2-10 250 750 980 110 68 PB850 PB850 @115-@375
*E i FA B S 6barks

R 5
15 60

600-275 605280282450 79/38 20 37 585508 25 12-M12 275 8 204.6/179.2 14 26 3 25.5 G1/2 57 116.5 M20 535 508 35 508 35
850-375 850352354700 140/47 25 44.5 830 745 30 12-M16 375 8 268/242.6 16 33 4 30 G1/275 182 M24 775 745 35 745 35 15 60

¥




ll || S,
___ ___ 2R *

MEMO




